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[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET (KF)a—K {TEHT (KF) £ 10 11 12 13 14 15 16
8011 IRAETFEERLY 0 0 0 0 1 1 1
8012 IRABTERERA 1 1 1 1 0 2 2
8013 IRABTEER (& 2 2 0 1 2 0 0
8021 IR AHETIZRKLY 0 0 0 0 1 1 0
8022 IRAHETRKA 0 0 0 0 0 0 0
8023 R AETFRK & 0 0 0 0 0 0 0
8031 IRAHETR ALY 1 1 1 5 0 2 2
8032 IRAET R A A 0 1 0 0 0 0 0
8033 IRAET R A 0 1 0 0 0 0 0
8041 IR AETEEIFLY 0 0 1 0 0 1 0
8042 IRAET LR A 0 1 0 0 0 1 2
8043 IR A HT B605% (X 0 0 0 0 0 0 0
8044 IR AET AR 0 0 0 0 0 0 1
8045 IR A HT 860% (F 1 1 2 1 0 0 1
8050 IR AHET IR A 1 2 3 1 1 0 1
8060 F N b ] 2 0 0 0 0 2 2
8070 IRAETER 0 0 2 1 2 0 1
8080 IR A BT S %A 1 0 0 1 1 0 1
8090 IRAETEE 1 2 0 0 0 0 1
8100 IRAETH /R 0 0 0 0 0 0 0
8110 IR ASHET )1 53 0 1 0 1 0 1 1
8120 IR AETEEME 1 1 2 3 0 1 1
8130 IRAETA E 0 1 1 1 0 2 1
8140 IRAETEEERT 1 0 1 3 3 3 3
8150 IRAETEEERL 0 3 1 0 0 1 2
9999 IRARR X ET 12 18 15 19 11 18 23
9010 FTHEHAREH 7 12 11 11 11 7 10
9020 FTHEHIEER 6 3 9 7 6 7 7
9030 FTHEI#%#H 31 33 40 29 30 29 15
9040 FTHEHRH 26 16 23 25 25 29 21
9999 FTHREXE 70 64 83 72 72 72 53
9110 FEETTHEIE 11 10 11 14 9 16 17
9120 =BT A& 4 4 4 6 4 10 8
9130 FEETRE 2 1 1 2 2 2 4
9140 SERT T A 3 6 7 4 8 6 7
9150 SERT L 45 10 7 13 10 9 9 13
9160 SEETER AT 14 10 9 7 1 12 15
9170 =ETNE 26 13 17 13 21 16 20
9180 SR ET 85 9 4 12 13 13 9 5
9190 f=ETZ A 6 0 5 4 0 4 4
9200 SEETET IS 3 6 3 8 4 3 3
9210 RETE 6 7 8 10 3 8 7
9220 SR ET R 13 8 13 13 9 10 11
9230 SEET B M 11 17 13 12 16 9 12
9240 SRETIE R 1 4 1 3 3 6 4
9250 $ERTIL Frth 11 16 12 13 10 10 9
9999 FERXET 130 113 129 132 122 130 139
9310 B SHET AR 2 0 2 2 2 3 2
9320 RSETIE 5 2 2 2 2 10 4
9330 B[S ET/NE 1 0 2 3 2 7 2
9340 HZET 5 4 7 6 10 8 7
9999 R XE 13 6 13 13 16 28 15
9410 RETTE 8 4 9 12 9 7 9
9420 RETHHE 0 4 1 2 2 2 2
9430 RETEXR 1 2 1 2 5 2 1
9440 RETAEF 0 0 0 0 0 0 0
9450 SRETHER 0 0 1 0 0 0 0
9460 RETCHE 0 0 0 0 0 0 0
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TEET (XF)a—F {TIET (KF) 4 10 11 12 13 14 15 16 17 18 19

9470 RETER 0 0 0 0 0 0 0 0 0 0
9480 RETHER 1 1 2 1 2 0 1 2 4 1
9999 RREE 10 11 14 17 18 11 13 13 15 6

99999 a&t 1048 1076 1115 1135 1149 1251 1198 1241 1172 1169
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10 H ET 1
20 [ 1L BT 0
30 & ET 8
40 LRHET 1
50 ABET—TH 4
60 AETZTH 1
70 AET=TH 11
80 AT I T 0
90 PR T I AT 1
100 Jt o FLET 2
110 ¥ASTHT 31
120 /NAW. N 4
130 TEFHT 6
140 £ ] T 1
150 FEFHET 6
9999 KRB XE 77
510 ABRTUTH 6
520 hEEEHT 4
530 J\IEHT 2
540 15 EHT 3
550 Frih BT 9
560 = ZEHT 0
570 EEET 1
580 $BHET 3
590 FEET 1
600 RN 20
610 EHT 0
620 EET—TH 0
9999 J\ KB XE 49
1010 B AHET 6
1020 L HHET 3
1030 mh A ET 2
1040 Fichag:ii 10
1050 K HHET 13
1060 H T 6
1070 Fr IR ET 9
1080 E HH#T 6
1090 HEHRT 16
1100 L BEHR 7
1110 f21EMT 1
1120 f21E JTHT 1
1130 + 0T 0
1140 FRRET 0
1150 FERET—TH 5
1160 FEET-TH 4
1170 H7KET 4
1180 BEFLET 10
1190 FEFARHT 3
1200 RKFH—TH 2
1210 XKFHIZTH 1
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1240 HEET 2
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[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TEET (XF)a—F {TIRHET (K=F) & 20 21 22 23 24 25 26

1300 A ZEMT 0 4 2 1 5 4 1
1310 KRIGHET 1 4 3 0 2 0 1
9999 A HEEXE 137 157 145 141 131 118 131
1510 HEHD L BT 16 18 15 15 10 13 11
1520 HE T ET 14 12 7 4 10 8 9
1530 HE#0 ST ET 8 3 7 1 7 7 1
1540 KigFHT 7 15 10 9 12 10 5
9999 FERNAR: X B 45 48 39 29 39 38 36
2010 = EHRHET 3 3 4 2 2 4 8
2020 %= EFhHET 8 6 7 7 12 5 9
2030 JENHT 0 1 0 1 0 0 1
2040 HET—TH 4 2 3 2 5 3 1
2050 WET—TH 4 4 3 5 5 3 2
2060 ¥o HE T 1 0 1 0 1 1 1
2070 FRET—TH 6 1 9 5 3 1 3
2080 FRETZ=TH 7 4 3 5 4 0 6
2090 =g 30 24 26 31 31 33 30
2100 ==bld:] 6 4 2 4 10 10 4
2110 FENNFTET—T B 5 6 4 3 7 4 5
2120 HEHIFTET —T B 7 10 8 6 2 3 6
9999 ZEREXE 81 65 70 71 82 67 76
2510 FA U BT 36 27 42 32 38 32 42
2520 K B2 ET 23 27 23 30 15 23 23
2530 =/NEET 19 8 6 7 5 8 11
2540 FHiGHT 9 8 10 5 4 7 7
2550 SRET 3 8 2 2 2 4 5
2560 = BT 17 19 16 16 14 13 13
2570 KEHRT 0 1 0 2 1 1 0
9999 WERXE 107 98 99 94 79 88 101
3010 RHTET 16 16 18 9 15 10 9
3020 T ET 26 19 14 19 18 8 16
3030 L+ EET 16 18 14 11 22 5 10
3040 =1z 0] 2 4 4 2 0 3 1
3050 o B BT 37 42 3 37 37 30 38
3060 H R THT 6 10 3 9 5 3 5
3070 T BN RT 9 15 12 14 10 6 7
3080 H T 5 7 1 11 9 10 5
3090 H R R ET 9 6 17 9 8 4 4
3100 s2==lsic: ) 18 14 16 13 23 21 14
3110 zZl==pId:1) 9 9 10 9 10 5 12
9999 INTFEREXE 153 160 154 143 157 105 121
3510 SR 2 4 3 4 7 3 1
3520 E R hHET 9 8 4 6 4 5 3
3530 ERTHT 21 22 15 14 22 21 26
3540 Z R KHET 5 10 5 9 5 3 6
3550 AEFHT 20 17 12 15 15 16 12
3560 = T ERHET 1 4 5 4 2 2 1
3570 = e 19 17 16 13 13 14 19
3580 3 L BT 13 15 12 15 13 10 8
3590 TEHT 0 0 0 0 0 0 0
9999 SHBEEXE 90 97 72 80 81 74 76
4010 )1 g ET 3 3 3 2 8 2 6
4020 fE&HT 3 3 4 1 1 1 2
4030 1SET 9 3 8 4 4 5 3
4040 = HE A ET 6 4 6 7 4 10 5
4050 7K E/T 8 14 10 10 13 13 9
4060 B2 4 AT 3 5 1 5 2 10 8
4070 At [ ET 1 6 1 3 5 1 6
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[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET (KF)a—K {TEHT (KF) £ 20 21 22 23 24 25 26
4080 =T iHiRT 3 2 5 3 1 2 1
4090 R ET 4 5 3 3 3 6 5
4100 A EFNET 0 1 4 2 0 1 3
4110 Jt S FOET 2 1 1 2 4 3 1
9999 R XET 42 47 46 42 45 54 49
4510 ERE—ZHT 12 8 15 13 12 12 20
4520 B FKMET 4 4 5 1 3 0 2
4530 AREE=FHET 3 4 3 2 2 1 2
4540 AR FHT 2 1 6 10 5 3 6
4550 AR FHHET 3 8 3 3 3 4 1
4560 EREENTEET 1 0 1 1 2 1 3
4570 ARECHET 7 2 4 6 4 1 3
4580 AR )\ FEHT 0 1 3 2 1 3 2
4590 AR N FHET 8 5 3 2 9 3 1
4600 ERE+ZHT 11 4 12 5 7 7 2
4610 EREE+—FHET 10 7 12 16 9 8 11
4620 B+ — FKHET 19 8 12 16 17 19 15
9999 BERRET 80 52 79 77 74 62 68
5010 REF0 B /T 5 5 8 5 3 4 5
5020 AR FNBA 5T 5 2 8 7 7 5 9
5030 REF0E{_HT 9 8 5 5 6 7 7
9999 AR X &Y 19 15 21 17 16 16 21
5510 b R ET 4 3 3 6 3 5 4
5520 = Hh BT 10 4 15 6 7 71
5530 =T 9 10 6 6 3 9 8
5540 T 3 3 2 8 0 5 2
5550 BET 1 0 0 0 2 0 0
9999 =X E 27 20 26 26 15 26 25
6010 [iE] BT /)N B 0 1 0 0 3 0 2
6020 fif] BT e 1 4 0 5 2 4 3
6030 [ BT &)1 2 2 1 0 0 2 1
6040 13 FFET 4 2 4 2 4 3 1
6050 JIIEHET R 5 2 5 2 1 4 1
6060 JIIEBETEE 2 3 1 1 1 2 2
9999 BEERRXET 14 14 1 10 11 15 10
6510 H&EA#EAHET 0 0 1 0 2 1 0
6520 H&E A KEHT 2 3 0 0 0 0 0
6530 B &R AFTHET 4 2 3 5 1 2 0
6540 HEAILUTH 1 1 2 0 1 0 5
6550 BEAM 2 NET 2 3 2 2 0 1 0
6560 HEAEILHT 2 1 0 1 2 1 2
6570 HEAGFHET 0 3 3 1 3 3 1
6580 HZEARHT 2 1 0 1 2 1 0
6590 HEARHE 0 2 0 0 0 0 1
6600 HZEAGHT 0 1 1 1 1 1 2
6610 HZEA LT 1 1 2 1 0 0 0
6620 HEAGFHT 0 0 1 0 1 0 0
6630 HEATHAET 1 1 2 1 1 0 1
6640 HEA EHBHT 0 0 1 2 0 1 0
6650 HZEASHE 0 0 0 0 1 0 0
6660 HEAFRHET 0 0 0 0 0 0 0
9999 HEARRKE 15 19 18 15 15 11 12
7010 ZRIMOm 1 6 3 3 2 4 1
7020 ZRKHT 3 0 4 4 5 1 2
7030 Z RIRHAET 1 2 2 2 1 1 2
7040 ZRTXKEHET 3 5 1 1 3 3 3
7050 Z RETHISHET 0 1 1 1 4 3 0
9999 ZRBREXE 8 14 11 11 15 12 8
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MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET (KF)a—K {TEHT (KF) £ 20 21 22 23 24 25 26
8011 IRAETFEERLY 1 2 0 3 2 1 1
8012 IRABTERERA 3 2 4 4 2 4 1
8013 IRABTEER (& 0 0 1 1 0 1 3
8021 IR AHETIZRKLY 0 0 0 0 2 1 3
8022 IRAHETRKA 0 0 0 0 0 0 0
8023 R AETFRK & 0 0 0 0 0 0 0
8031 IRAHETR ALY 3 2 3 0 4 0 3
8032 IRAET R A A 0 0 0 1 0 0 0
8033 IRAET R A 0 0 1 0 1 0 0
8041 IR AETEEIFLY 1 0 1 0 0 2 0
8042 IRAET LR A 0 1 0 1 3 1 0
8043 IR A HT B605% (X 0 1 0 0 0 0 0
8044 IR AET AR 1 0 0 1 0 2 0
8045 IR A HT 860% (F 0 0 0 0 0 1 1
8050 IR AHET IR A 4 0 1 0 2 1 1
8060 F N b ] 1 6 0 1 2 4 3
8070 IRAETER 2 0 3 0 1 0 1
8080 IR A BT S %A 0 0 0 0 0 1 1
8090 IRAETEE 0 0 0 0 0 0 1
8100 IRAETH /R 0 0 0 0 0 0 0
8110 IR ASHET )1 53 0 2 0 1 0 0 2
8120 IR AETEEME 2 1 0 1 0 1 0
8130 IRAETA E 2 1 0 0 0 1 0
8140 IRAETEEERT 3 4 3 1 1 0 2
8150 IRAETEEERL 0 2 2 1 4 2 1
9999 IRARR X ET 23 24 19 16 24 23 24
9010 FTHEHAREH 5 8 6 9 11 4 10
9020 FTHEHIEER 10 6 2 6 4 9 12
9030 FTHEI#%#H 21 17 16 15 13 14 13
9040 FTHEHRH 22 25 16 22 25 26 23
9999 FTHREXE 58 56 40 52 53 53 58
9110 Fi =R 13 12 7 9 5 10 15
9120 =BT A& 6 6 8 2 2 4 3
9130 FEETRE 4 3 3 1 3 2 1
9140 SERT T A 14 11 4 10 4 6 6
9150 SERT L 45 10 10 5 12 7 6 5
9160 SEETER AT 14 8 6 15 12 12 11
9170 =ETNE 12 15 9 15 14 19 23
9180 SR ET 85 8 9 7 5 11 18 9
9190 f=ETZ A 9 5 1 8 2 2 3
9200 SEETET IS 1 2 5 8 5 5 6
9210 RETE 9 5 10 7 8 10 6
9220 SR ET R 18 9 8 6 7 10 11
9230 SEET B M 13 15 13 7 12 9 7
9240 SRETIE R 9 12 8 8 7 2 8
9250 $ERTIL Frth 22 15 9 15 14 8 15
9999 FERXET 162 137 103 128 113 123 129
9310 B SHET AR 6 1 2 3 3 4 1
9320 RSETIE 2 7 4 2 4 3 2
9330 B[S ET/NE 2 0 2 0 2 0 3
9340 HZET 14 10 7 5 6 5 4
9999 R XE 24 18 15 10 15 12 10
9410 RETTE 5 4 4 6 4 5 9
9420 RETHHE 3 2 0 3 2 1 2
9430 RETEXR 3 1 1 1 1 2 1
9440 RETAEF 0 0 0 0 0 0 0
9450 SRETHER 0 0 0 0 0 1 1
9460 RETCHE 0 0 0 0 0 0 1
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[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TEET (XF)a—F {TIRHET (K=F) & 20 21 22 23 24 25 26

27 28 29
0 0 0
0 0 1

3 13 16

9470 RETEXR 0 0 0 0 0 0 0
9480 SRETHER 2 1 0 2 1 0 0
9999 REEXE 13 8 5 12 8 9 14
99999 = 1224 1172 1092 1103 1074 1010 1094 1141 1131 1235
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[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET(KF)3—F {TEHET (KF) £ 30 31 32 33 34 3 3 37 38 39
10 H ET 1 5 2 5 3 3 1 3 3 3
20 [ st BT 6 4 2 0 3 1 5 5 5 4
30 & HT 3 5 6 1 2 4 2 4 6 6
40 LRHET 4 1 3 2 1 1 1 4 2 1
50 AET—TH 6 5 4 7 4 2 3 0 3 3
60 AETZTH 8 7 9 8 8 2 12 6 10 9
70 AET=TH 4 4 5 5 5 8 4 4 9 6
80 AT I T 2 0 0 1 0 0 1 0 2 1
90 PR T I AT 4 3 4 6 4 3 3 2 9 5
100 Jt o FLET 0 5 0 2 1 5 2 4 6 2
110 ¥ASTHT 30 23 22 25 37 23 25 22 31 40
120 /NAW. N 2 3 6 2 6 5 8 4 9 5
130 TEFHT 3 6 11 6 8 7 4 7 10 12
140 £ [E] T 0 1 0 0 0 0 0 0 1 1
150 FEFHET 19 12 10 15 8 14 13 10 11 7
9999 KRB XE 92 84 8 8 90 78 8 75 117 105
510 AETMTH 2 10 10 6 5 12 8 14 19 15
520 heEE T 5 5 1 2 12 5 2 6 5 5
530 J\IEHT 5 5 4 2 6 3 5 6 7 4
540 18R HT 7 10 5 4 10 9 10 7 13 12
550 S BT 4 9 6 7 3 11 6 6 5 11
560 = ZEHT 3 1 1 1 2 2 1 3 2 1
570 EEET 0 0 0 0 1 2 0 1 1 3
580 $BHET 3 2 5 2 1 2 4 2 1 4
590 FEET 0 2 1 0 0 0 0 1 1 0
600 RN 12 11 13 17 15 9 14 21 17 15
610 EHT 1 2 1 1 5 4 2 5 3 5
620 iERT—TH 0 0 0 0 0 0 0 0 0 0
9999 J\ KB XE 42 57 47 42 60 59 52 72 74 75
1010 B AHET 2 3 6 6 6 3 3 5 2 2
1020 L+ FHET 5 15 6 7 13 6 12 9 14 13
1030 o ET 3 9 4 10 5 9 14 11 11 13
1040 79 HT 16 18 17 21 20 18 12 7 19 11
1050 K HAT 17 16 21 13 14 12 9 19 19 16
1060 F_EHT 14 13 15 8 17 15 9 7 1 15
1070 Fr IR ET 18 29 12 17 10 22 20 17 26 4
1080 E M HET 11 12 14 11 10 12 6 8 7 12
1090 HEHRT 14 15 10 13 10 14 16 13 12 20
1100 L+ BEHRT 10 10 15 13 17 14 15 12 8 14
1110 1S IEET 2 7 3 7 3 6 6 5 6 2
1120 12 1E JTHT 1 1 0 0 0 0 2 1 3 0
1130 + 50T 0 1 1 1 0 1 0 0 0 1
1140 FRRET 0 0 0 1 0 0 0 0 1 0
1150 FERET—TH 5 5 4 7 8 1 3 4 3 4
1160 FEET-TH 4 2 2 2 6 2 9 5 3 3
1170 H7KET 3 6 4 5 5 6 2 7 7 2
1180 BEFLET 2 1 5 2 4 3 3 7 4 5
1190 FEFARHT 7 3 7 3 3 1 8 3 4 4
1200 KFH—TH 0 3 3 3 3 2 1 0 5 4
1210 XKFHIZTH 4 3 1 4 3 3 7 5 5 1
1220 FHT 1 1 4 7 1 5 3 2 6 3
1230 iRET 1 2 1 5 2 2 4 4 2 2
1240 HEET 5 6 2 0 2 3 1 6 0 2
1250 1= ET 4 0 4 2 6 6 3 4 2 0
1260 yER=E 3T ] 1 0 2 0 0 1 1 0 2 0
1270 HEE 3 2 3 5 3 2 4 2 3 6
1280 PRAEHT 2 7 3 2 1 5 1 6 3 5
1290 SR ET 3 5 4 4 1 2 3 4 3 4
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TRET (KF)a—K {TEHT (KF) £ 30 31 32 33 3 3 36
1300 A ZEMT 3 2 4 2 4 1 3
1310 KRIGHET 1 0 0 0 0 0 2
9999 A HEEXE 162 197 177 181 177 177 182
1510 HEHD L BT 13 6 12 14 4 16 18
1520 HE T ET 8 12 9 9 13 17 11
1530 HE#0 ST ET 9 5 6 4 5 6 4
1540 KigFHT 5 5 8 10 5 8 12
9999 FERNAR: X B 35 28 35 37 27 47 45
2010 = EHRHET 5 1 3 9 9 4 8
2020 %= EFhHET 10 7 10 7 13 5 9
2030 JENHT 0 0 0 0 0 2 0
2040 HET—TH 5 6 2 3 4 3 2
2050 WET—TH 4 6 2 4 5 6 4
2060 ¥o HE T 2 0 1 0 1 2 1
2070 FRET—TH 6 5 10 3 9 1 7
2080 FRETZ=TH 2 3 2 5 4 3 4
2090 =g 41 32 31 32 44 52 33
2100 ==bld:] 10 6 5 15 9 13 8
2110 FENNFTET—T B 1 6 4 2 0 2 6
2120 HEHIFTET —T B 9 1 3 8 3 3 9
9999 ZEREXE 95 73 73 88 101 96 91
2510 FA U BT 41 63 46 39 64 55 59
2520 K B2 ET 24 33 41 43 49 36 32
2530 =/NEET 10 8 7 6 11 6 6
2540 FHiGHT 6 3 2 5 7 9 9
2550 SRET 5 4 7 3 10 5 5
2560 = BT 21 19 23 25 33 17 20
2570 KEHRT 1 3 0 2 1 4 1
9999 WERXE 108 133 126 123 175 132 132
3010 RHTET 20 18 12 21 19 20 30
3020 T ET 27 30 21 24 13 27 19
3030 L+ EET 19 21 10 21 27 17 16
3040 =1z 0] 3 2 2 3 1 1 1
3050 o B BT 52 66 49 57 58 51 50
3060 H R THT 9 8 7 6 12 10 7
3070 T BREET 8 8 5 7 19 8 8
3080 HH ch T 14 10 10 17 13 14 14
3090 H R R ET 13 7 9 9 8 18 16
3100 s2==lsic: ) 15 25 14 20 17 11 12
3110 zZl==pId:1) 1 11 5 12 17 7 6
9999 INTFEREXE 191 206 144 197 204 184 179
3510 SR 2 4 4 4 1 1 3
3520 E R hHET 4 6 8 3 7 9 3
3530 ERTHT 12 27 30 14 34 29 24
3540 =B RHT 6 4 4 9 3 9 8
3550 AEFHT 13 14 8 16 10 15 19
3560 = T ERHET 6 7 7 7 5 9 5
3570 = e 22 18 13 4 15 19 11
3580 3 L BT 18 9 12 7 6 14 14
3590 TEHT 0 0 0 0 0 0 0
9999 SHBEEXE 83 89 8 64 81 105 87
4010 201 P ET 6 3 3 3 4 5 9
4020 fE&HT 0 1 3 2 1 0 2
4030 1SET 2 9 5 2 4 6 5
4040 = HE A ET 7 6 4 2 5 3 2
4050 7K E/T 7 14 5 10 13 12 8
4060 B2 4 AT 8 14 16 13 13 9 16
4070 At [ ET 3 5 4 4 4 1 3

37

178
24

o — N
© dJ oo O

w
OO OCONMA—-OPL~L®

78
72
53

10

13

163
31
18
22

46

10
10
13
12
13
186

26

16

19
11

©
WPhOWOIL—O10O0O

38

194

- O1 = NN
HOOOONO

- W
©CO—-NOPLLWWSAP,OJ

102
65
38

29
149
23
30
20

27

11
12

12
161

22
10
15

19

88

—_
AP OLONAL, =Y

39

17

164
26
25
26

44

14
14
12
14
11
198



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET(KF)3—F {TEHET (KF) £ 30 31 32 33 34 3 36 37 38
4080 =T iHiRT 9 7 7 5 4 5 2 4 2
4090 SRR ET 7 8 9 5 3 4 2 5 8
4100 A EFNET 2 4 5 2 5 6 6 1 2
4110 Jt S FOET 6 1 3 6 4 6 3 5 4
9999 R XET 57 72 64 54 60 57 58 44 64
4510 ERE—ZHT 4 11 13 12 20 20 19 14 16
4520 B FKMET 5 5 1 4 9 5 5 10 3
4530 AREE=FHET 6 4 2 4 4 6 4 5 5
4540 AR FHT 3 1 0 4 2 3 3 1 0
4550 AR FHHET 1 1 4 2 2 5 0 2 2
4560 EREENTEET 3 1 1 1 1 4 2 1 1
4570 ARECHET 1 2 1 4 1 2 2 2 3
4580 AR )\ FEHT 4 0 2 2 4 2 4 3 2
4590 AR N FHET 3 3 5 3 6 2 7 2 3
4600 ERE+ZHT 4 8 2 5 3 5 0 2 3
4610 EREE+—FHET 6 7 6 4 5 6 4 6 7
4620 B+ — FKHET 11 13 6 7 3 4 2 4 1
9999 BERRET 51 56 43 52 60 64 52 52 46
5010 REF0 B /T 3 5 4 7 7 5 5 4 6
5020 RE FOBA 4 ET 3 2 2 4 5 4 5 3 6
5030 REFNE{— /T 7 3 9 3 7 7 3 8 4
9999 AR X &Y 13 10 15 14 19 16 13 15 16
5510 b R ET 5 4 3 2 7 3 2 2 3
5520 = Hh BT 11 11 10 11 12 18 16 15 17
5530 =T 9 9 10 11 7 11 13 7 12
5540 T 7 2 7 3 7 6 6 4 7
5550 BET 0 0 0 0 2 2 2 4 1
9999 =X E 32 26 30 27 35 40 39 32 40
6010 [iE] BT /)N B 3 1 1 3 0 3 1 2 3
6020 fif] BT e 2 3 4 4 2 2 1 3 2
6030 [ BT &)1 0 0 1 3 1 1 1 3 2
6040 13 FFET 3 9 2 3 5 5 7 5 6
6050 JIIEHET R 0 0 3 2 1 3 2 0 4
6060 JIIEBETEE 0 4 5 3 2 3 0 7 3
9999 BEERRXET 8 17 16 18 11 17 12 20 20
6510 H&EA#EAHET 1 1 1 0 1 0 0 0 0
6520 H&E A KEHT 4 5 3 5 3 1 3 6 4
6530 B &R AFTHET 1 2 0 2 1 1 2 1 1
6540 HEAILUTH 5 2 3 1 3 3 4 2 1
6550 BEAM 2 NET 0 1 2 0 3 2 1 3 1
6560 HEAEILHT 3 4 3 1 4 4 5 2 4
6570 HEAGFHET 1 2 4 2 1 1 0 1 5
6580 HZEARHT 1 1 0 0 0 1 2 1 0
6590 HEARHE 2 1 0 0 0 0 0 0 0
6600 HZEAGHT 0 2 2 1 1 3 1 2 1
6610 HZEA LT 0 1 1 0 1 1 2 1 0
6620 HEAGFHT 1 0 1 0 1 1 1 0 2
6630 HEATHAET 1 0 0 1 0 0 0 0 0
6640 HEA EHBHT 1 0 0 0 0 1 0 0 1
6650 HZEASHE 0 0 0 0 0 0 0 0 0
6660 HEAFRHET 0 0 0 0 0 0 0 0 0
9999 HEARRKE 21 22 20 13 19 19 21 19 20
7010 ZRiMORT 6 2 2 0 0 6 3 1 2
7020 ZRKHT 6 5 6 2 5 2 3 9 2
7030 Z RIRHAET 2 0 0 1 2 1 0 1 0
7040 ZRTXKEHET 0 1 2 1 1 2 1 4 1
7050 Z RETHISHET 0 3 0 1 3 0 1 1 3
9999 ZRBREXE 14 11 10 5 11 11 8 16 8
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[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET (KF)a—K {TEHT (KF) £ 30 31 32 33 3 3 36
8011 IRAETFEERLY 1 2 0 1 0 2 1
8012 IRABTERERA 3 2 2 0 1 2 1
8013 IRABTEER (& 2 0 1 3 3 0 0
8021 IR AHETIZRKLY 0 3 3 1 2 1 1
8022 IRAHETRKA 0 0 0 0 0 0 0
8023 R AETFRK & 0 0 0 0 0 0 0
8031 IRAHETR ALY 2 2 3 0 2 3 2
8032 IRAET R A A 0 0 0 1 0 0 0
8033 IRAET R A 0 0 0 0 1 0 0
8041 IR AETEEIFLY 1 0 2 1 1 2 2
8042 IRAET LR A 2 0 0 0 0 0 0
8043 IR A HT B605% (X 0 0 1 0 0 0 1
8044 IR AET AR 1 0 1 0 0 0 0
8045 IR A HT 860% (F 1 0 0 2 1 0 0
8050 IR AHET IR A 6 1 2 0 4 2 2
8060 F N b ] 2 1 1 1 3 3 0
8070 IRAETER 1 1 2 1 1 1 1
8080 IR A BT S %A 1 1 0 0 1 1 0
8090 IRAETEE 0 1 0 1 2 0 2
8100 IRAETH /R 0 0 0 0 0 0 0
8110 IR ASHET )1 53 0 0 0 0 0 1 1
8120 IR AETEEME 0 1 1 2 1 0 2
8130 IRAETA E 2 0 0 0 1 0 1
8140 IRAETEEERT 1 1 0 0 1 3 0
8150 IRAETEEERL 0 1 2 1 2 0 1
9999 IRARR X ET 26 17 21 15 27 21 18
9010 FTHEHAREH 14 12 21 16 5 8 12
9020 FTHEHIEER 6 10 6 5 11 3 4
9030 FTHEI#%#H 29 19 31 35 38 40 26
9040 FTHEHRH 35 22 27 27 30 26 38
9999 FTHREXE 84 63 85 83 84 71 80
9110 Fi =R 9 10 11 7 13 7 15
9120 =BT A& 5 3 6 1 4 9 3
9130 FEETRE 3 0 2 6 3 3 6
9140 SRET T AT 6 8 8 8 7 12 9
9150 SERT L 45 9 9 11 18 15 12 12
9160 SEATEE AT 16 13 15 19 10 15 13
9170 =ETNE 21 14 18 21 26 23 27
9180 SEETER 11 13 10 6 7 16 12
9190 f=ETZ A 3 6 5 3 6 6 7
9200 SEETET IS 3 3 4 1 4 7 4
9210 RETE 7 8 9 10 7 8 4
9220 SR ET R 12 15 9 13 5 11 13
9230 SEET B M 15 13 15 11 6 12 20
9240 SRETIE R 7 3 8 5 6 4 7
9250 $ERTIL Frth 18 12 15 15 28 19 17
9999 FERXET 145 130 146 144 147 164 169
9310 B SHET AR 1 3 0 2 1 2 4
9320 RSETIE 4 2 3 3 4 6 4
9330 B[S ET/NE 2 2 3 0 2 3 4
9340 HZET 6 4 3 6 6 2 10
9999 R XE 13 11 9 11 13 13 22
9410 RETTE 7 5 9 10 9 3 5
9420 RETHHE 1 1 2 3 2 6 3
9430 RETEXR 0 1 1 0 4 0 0
9440 RETAEF 0 0 0 0 0 0 0
9450 SRETHER 0 0 0 0 0 1 0
9460 RETCHE 0 0 0 0 0 1 0
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[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TEET (XF)a—F {TIET (KF) 4 30 31 32 33 34 35 36 37 38 39

9470 RETER 0 0 0 0 0 0 1 0 0 0
9480 RETHER 1 1 0 2 1 2 0 1 1 0
9999 RREE 9 8 12 15 16 13 9 17 7 19

99999 a&t 1281 1310 1243 1268 1417 1390 1353 1416 1443 1496
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[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET(KF)3—F {TEHET (KF) £ 40 M 42 43 44 45 46
10 H ET 3 4 5 2 2 6 4
20 [ st BT 5 3 2 3 5 5 6
30 & HT 3 5 5 2 2 7 7
40 LRHET 2 5 6 4 3 2 2
50 AET—TH 3 7 7 6 9 6 8
60 AETZTH 3 4 6 2 5 8 5
70 AET=TH 6 6 7 9 12 9 11
80 AT I T 0 1 0 1 0 3 1
90 PR T I AT 5 2 6 4 3 2 4
100 Jt o FLET 2 6 3 4 2 3 7
110 ¥ASTHT 32 28 42 37 40 37 37
120 AT AHT 3 6 10 11 6 9 2
130 TEFHT 10 8 10 13 11 12 9
140 £ [E] T 0 0 0 1 0 1 0
150 FEFHET 14 8 14 10 12 13 7
9999 KRB XE 91 93 123 109 112 123 110
510 AETMTH 10 9 10 8 7 5 14
520 heEE T 8 5 10 5 5 1 5
530 J\IEHT 5 7 4 4 4 7 1
540 18R HT 9 14 8 21 17 14 11
550 S BT 7 14 9 12 11 15 11
560 = ZEHT 3 2 2 1 1 2 3
570 EEET 1 3 1 5 2 1 1
580 FrEAET 2 6 3 3 4 3 0
590 FEET 0 1 0 1 0 1 2
600 RN 11 14 15 15 17 15 17
610 EHT 6 2 2 3 3 4 2
620 HAE—TH 0 0 0 0 0 0 0
9999 J\ KB XE 62 77 64 78 71 68 67
1010 B AHET 1 6 4 7 7 3 4
1020 L HHET 8 8 4 10 8 6 8
1030 mh A ET 8 8 7 12 4 9 2
1040 Fichag:ii 7 11 16 13 7 10 4
1050 K HAT 12 12 18 23 12 17 15
1060 F_EHT 13 13 10 13 13 15 19
1070 Fr IR ET 12 20 11 15 13 18 14
1080 E M HET 11 5 9 5 15 10 13
1090 HEHRT 15 21 14 18 14 21 21
1100 L+ BEHRT 21 13 11 15 16 11 14
1110 1S IEET 2 7 2 1 6 7 3
1120 12 1E JTHT 0 0 1 1 3 0 0
1130 + 0T 0 2 0 0 1 1 0
1140 FRRET 0 0 0 0 1 1 1
1150 FERET—TH 2 1 8 2 3 6 3
1160 FEET-TH 3 5 3 6 5 4 11
1170 H7KET 3 7 2 5 1 6 7
1180 BEFLET 2 7 4 8 5 5 8
1190 FEFARHT 3 5 4 6 3 4 4
1200 RKFH—TH 2 4 3 4 4 3 4
1210 XKFHIZTH 7 3 6 5 3 0 5
1220 FHT 3 4 4 7 5 4 2
1230 iGET 4 3 5 1 6 1 3
1240 HEET 3 3 4 4 3 1 5
1250 1= ET 3 1 5 3 7 1 4
1260 yER=E 3T ] 0 0 2 0 1 1 1
1270 HEE 8 2 5 0 6 3 3
1280 FRAE T 6 2 3 5 9 5 2
1290 SR ET 3 7 4 6 2 4 7

N

—_—

—_ - o — w

—_—

—
DONDPDPONIOI-AN—=- =D 20— O —=-NOONOON—-NOCO-=NNNJ

_ N = =N =
OO OJON D

CTOINNOWWAO—-=NWWAaOaJdOI =0 Ww-d

— —
OO NPOOOOOCITONON A JO WO - OO0 WUINW—-PM~ONOLO© N O O

PO WVCWO =0 N—-"TJOIJOONO —-0O0 ©

I

w

©

—_—

—_—

»
PO~ O - WO IINOOODOOODMORAI—=0WPAAOWNDIMO©

—_ —_
N 0 O

__ N = =
OO O~

—_
ANNOUONPAPAWOWLWONPAAIIYTOO—= WO
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[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TIRET (KF)a—F {TIHET (KF) & 40 41 42 43 44 45 46

1300 A ZEMT 3 2 0 1 1 2 1
1310 KRIGHET 1 2 1 2 1 1 1
9999 A HEEXE 166 184 170 198 185 180 189
1510 HEHD L BT 19 17 19 21 20 16 22
1520 HE T ET 19 23 21 14 23 18 17
1530 HE#0 ST ET 6 13 7 12 9 5 2
1540 KigFHT 13 16 14 21 12 9 14
9999 FERNAR: X B 57 69 61 68 64 48 55
2010 = EHRHET 4 7 6 3 3 4 8
2020 %= EFhHET 10 13 8 14 9 7 8
2030 JENHT 0 1 1 0 0 0 0
2040 HET—TH 1 8 7 3 6 8 8
2050 WET—TH 3 5 5 5 4 3 8
2060 ¥o HE T 3 1 0 1 1 1 1
2070 FRET—TH 1 3 5 5 7 8 6
2080 FRETZ=TH 5 2 4 6 3 5 5
2090 =g 4 42 46 39 42 46 37
2100 ==bld:] 10 9 3 5 7 4 10
2110 FENNFTET—T B 8 5 7 4 5 4 4
2120 HEHIFTET —T B 5 5 7 3 8 9 7
9999 ZEREXE 94 101 99 8 95 99 102
2510 FA U BT 79 79 79 61 69 63 54
2520 K B2 ET 4 35 33 37 44 36 28
2530 =/NEET 5 11 9 10 18 10 14
2540 FHi5HT 9 7 8 10 9 12 10
2550 SRET 5 7 5 4 4 7 2
2560 = BT 28 33 19 31 23 28 20
2570 KEHRT 3 3 2 0 0 1 2
9999 WERXE 173 175 155 153 167 157 130
3010 RHTET 23 21 38 33 19 20 30
3020 T ET 23 35 26 35 33 26 25
3030 L+ EET 24 19 27 24 35 34 22
3040 =1z 0] 3 3 4 3 2 7 6
3050 o B BT 50 60 56 53 54 53 46
3060 HETHET 11 5 5 11 10 12 10
3070 T BN RT 15 11 15 12 9 9 13
3080 H T 16 15 17 16 14 13 7
3090 H R ET 15 11 9 15 14 11 13
3100 s2==lsic: ) 10 12 16 17 15 16 13
3110 zZl==pId:1) 9 15 1 12 5 9 8
9999 INTFEREXE 208 207 224 231 210 210 193
3510 SR 3 5 4 8 2 3 2
3520 E R hHET 7 9 13 10 7 14 7
3530 ERTHT 22 23 28 19 37 37 25
3540 Z R KHET 9 7 13 15 7 8 10
3550 AEFHT 19 19 22 18 16 13 20
3560 = T ERHET 4 6 10 13 7 5 8
3570 = e 18 16 14 19 28 17 27
3580 3 L BT 25 20 9 15 14 13 9
3590 TEHT 0 1 0 0 0 0 0
9999 SHBEEXE 107 106 113 117 118 110 108
4010 201 P ET 5 12 8 8 11 7 7
4020 fE&HT 1 1 2 3 1 6 3
4030 1SET 9 7 6 8 9 5 7
4040 = HE A ET 0 6 8 6 2 7 9
4050 7K E/T 8 12 10 16 8 9 13
4060 B2 4 AT 7 10 7 5 8 8 8
4070 At [ ET 5 6 2 6 5 2 3
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[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET(KF)3—F {TEHET (KF) £ 40 M 42 43 44 45 46
4080 =T iHiRT 7 4 7 5 5 11 3
4090 R ET 11 7 10 5 5 7 7
4100 A EFNET 3 2 2 3 1 0 1
4110 Jt S FOET 3 3 4 1 1 6 3
9999 R XET 50 70 66 66 56 68 64
4510 ERE—ZHT 17 6 20 16 10 14 17
4520 B FKMET 3 2 4 10 4 3 0
4530 AREE=FHET 2 3 3 1 2 1 2
4540 AR FHT 2 4 4 3 2 2 3
4550 AR FHHET 2 1 2 3 3 5 3
4560 EREENTEET 0 0 0 0 0 1 0
4570 ARECHET 4 9 3 3 3 2 6
4580 AR )\ FEHT 5 2 2 0 0 1 2
4590 AR N FHET 5 1 2 4 0 5 1
4600 EREE+ZRHT 5 2 2 3 1 1 4
4610 EREE+—FHET 5 3 4 4 5 2 3
4620 B+ — FKHET 5 5 6 4 5 3 8
9999 BERRET 55 38 52 51 35 40 49
5010 REF0 B /T 2 1 6 6 2 4 6
5020 AR FNBA 5T 3 6 5 3 5 5 5
5030 REF0E{_HT 5 6 4 3 6 4 2
9999 AR X &Y 10 13 15 12 13 13 13
5510 b R ET 3 2 6 7 8 9 5
5520 = Hh BT 27 22 16 19 18 12 12
5530 =T 11 14 11 17 1 16 16
5540 T 8 3 8 6 1 4 9
5550 BET 1 0 1 1 0 0 0
9999 =X E 50 41 42 50 38 41 42
6010 [iE] BT /)N B 1 2 2 6 2 1 2
6020 fif] BT e 3 1 2 2 0 2 1
6030 [ BT &)1 1 2 2 0 2 1 1
6040 13 FFET 5 5 0 8 4 1 6
6050 JIIEHET R 1 1 1 4 4 7 4
6060 JIIEBETEE 2 2 1 4 3 6 4
9999 BEERRXET 13 13 8 24 15 18 18
6510 H&EA#EAHET 0 1 0 0 1 0 0
6520 H&E A KEHT 7 2 5 3 9 0 2
6530 B &R AFTHET 0 3 3 2 0 3 4
6540 HEAILUTH 2 5 3 6 1 6 3
6550 BEAM 2 NET 4 3 2 2 2 3 2
6560 HEAEILHT 2 2 1 1 3 1 3
6570 HEAGFHET 6 0 0 4 1 2 6
6580 HZEARHT 0 2 0 0 1 1 0
6590 HEARHE 0 1 0 0 2 0 0
6600 HZEAGHT 2 0 1 1 0 1 5
6610 HZEA LT 1 0 0 1 0 0 1
6620 HEAGFHT 1 0 1 0 1 1 1
6630 HEATHAET 0 0 2 2 0 1 1
6640 HEA EHBHT 0 0 1 1 0 1 0
6650 HZEASHE 0 0 0 0 0 0 0
6660 HEAFRHET 0 0 0 0 0 0 0
9999 HEARRKE 25 19 19 23 21 20 28
7010 ZRIMOm 1 4 1 1 1 3 2
7020 ZRKHT 11 6 10 12 4 8 2
7030 Z RIRHAET 0 1 2 2 1 1 2
7040 ZRTXKEHET 8 5 0 5 3 4 8
7050 Z RETHISHET 3 3 3 3 2 3 1
9999 ZRBREXE 23 19 16 23 11 19 15

N

- ~d

I

N —_
O = WNDIAMROOWOOON—-W—-W—=PW—DNWW—=N~NNNdAN—==INNJOUITTO WA PLDOCOTWWWN—-=WNN=—=OCIOON —=-IANOWINMJ

—_—

N

—_—

N

N

($]

—_ —_

N
OMNONOICINOOO—-=-N—-0O0WO - WANONPOWNOOUNN—-"OOONWNOOOONOOOOPAANDPPWOONMDMNMNOUUIOW =01 — 0C1O© N O

N

N

—_

I

N O

I

w —_
O WOJOOOOOOW—- === 00—~ WOaPAhOODOONOGTWEANNOOPRLRWOAOBRANWWONRDPDON—ONOOPA~AWOOPRAOOTWO WO

—_—

—_—

N

—_—



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET(KF)3—F {TEHET (KF) £ 40 M 42 43 44 45 46
8011 IRAETFEERLY 1 1 0 0 1 0 0
8012 IRABTERERA 3 0 2 1 2 2 6
8013 IRABTEER (& 2 2 0 0 2 1 0
8021 IR AHETIZRKLY 2 0 1 0 0 2 0
8022 IRAHETRKA 0 0 0 0 0 0 0
8023 R AETFRK & 0 0 0 0 0 0 0
8031 IRAHETR ALY 3 3 1 1 4 5 4
8032 IRAET R A A 1 0 0 1 1 0 0
8033 IRAET R A 1 1 1 0 1 0 1
8041 IR AETEEIFLY 1 0 0 1 0 0 2
8042 IRAET LR A 0 0 0 0 1 1 3
8043 IR A HT B605% (X 0 0 0 0 0 1 0
8044 IR AET AR 0 0 1 1 1 2 1
8045 IR A HT 860% (F 0 2 2 0 2 0 2
8050 IR AHET IR A 1 3 1 4 2 4 0
8060 F N b ] 3 4 3 1 1 1 1
8070 IRAETER 1 0 4 0 2 1 1
8080 IR A BT S %A 0 0 1 0 1 0 0
8090 IRAETEE 1 0 0 1 0 0 0
8100 IRAETH /R 1 0 0 0 0 0 0
8110 P A< BT 11553 0 1 0 0 1 1 1
8120 IR AETEEME 2 0 1 1 0 0 2
8130 IRAETA E 0 0 3 1 1 3 3
8140 IRAETEEERT 3 1 1 1 2 1 3
8150 IRAETEEERL 1 0 2 0 2 1 2
9999 IRARR X ET 27 18 24 14 27 26 32
9010 FTHEHAREH 12 12 11 14 15 13 19
9020 FTHEHIEER 4 12 9 13 7 9 8
9030 FTHEI#%#H 29 41 32 34 38 26 23
9040 FTHEHRH 30 34 41 35 42 29 42
9999 FTHREXE 75 99 93 96 102 77 92
9110 FEETTHEIE 12 13 20 8 15 19 17
9120 =BT A& 4 9 7 6 4 3 5
9130 FEETRE 3 1 4 6 1 4 4
9140 SRET T AT 10 12 14 13 6 16 11
9150 SERT L 45 8 9 16 11 18 11 6
9160 SEATEE AT 22 22 15 22 17 19 16
9170 =ETNE 30 22 27 19 25 23 27
9180 SEETER 11 16 14 11 12 13 10
9190 f=ETZ A 3 6 4 6 3 6 4
9200 SEETET IS 8 5 7 3 4 2 3
9210 SEETEH 14 11 8 12 13 11 8
9220 SR ET R 13 16 14 16 17 8 11
9230 SEET B M 8 13 14 14 26 8 15
9240 SRETIE R 4 7 4 5 5 1 7
9250 $ERTIL Frth 16 13 15 15 8 14 13
9999 FERXET 166 175 183 167 174 158 157
9310 B SHET AR 3 5 2 3 9 1 3
9320 RSETIE 5 5 7 5 6 7 8
9330 B[S ET/NE 2 4 3 2 3 2 3
9340 HZET 7 9 6 6 5 8 7
9999 R XE 17 23 18 16 23 18 21
9410 RETTE 6 12 6 2 7 5 6
9420 RETHHE 3 3 4 5 1 3 5
9430 RETEXR 1 3 4 1 2 4 3
9440 RETAEF 0 0 0 0 0 0 0
9450 SRETHER 1 0 1 0 0 0 0
9460 RETCHE 0 2 0 1 0 1 0
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TIRET (KF)a—F {TIHET (KF) & 40 41 42 43 44 45 46

9470 RETEXR 0 0 0 0 0 0 0
9480 SRETHER 2 1 0 3 4 0 3
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6050 JIIEHET R 12 6 2 9 4 7 7 7 7 9
6060 JIIEBETEE 5 7 6 11 11 6 5 7 3 5
9999 BEERRXET 37 38 34 51 28 3 33 38 29 31
6510 H&EA#EAHET 0 2 0 3 0 0 0 0 1 0
6520 H&E A KEHT 5 10 12 10 9 11 13 14 10 11
6530 B &R AFTHET 5 6 9 7 4 5 4 5 4 5
6540 HEAILUTH 6 10 6 8 11 7 3 17 6 8
6550 BEAM 2 NET 2 10 3 3 6 7 3 2 3 5
6560 HEAEILHT 7 4 4 5 3 5 7 6 7 5
6570 HEAGFHET 7 3 2 5 5 8 5 14 5 14
6580 HZEARHT 0 7 9 2 6 4 6 4 7 2
6590 HEARHE 3 0 2 0 4 1 1 2 0 3
6600 HZEAGHT 5 3 4 4 6 4 2 3 3 4
6610 HZEA LT 1 2 5 3 1 1 2 3 2 2
6620 HEAGFHT 2 2 0 2 2 2 3 3 2 3
6630 HEATHAET 2 2 6 3 3 2 6 2 3 3
6640 HEA EHBHT 0 2 2 3 2 4 2 1 1 4
6650 HZEASHE 0 0 0 0 0 0 0 0 0 0
6660 HEAFRHET 0 0 0 0 0 0 3 0 0 0
9999 HEARRKE 45 63 64 58 62 61 60 76 54 69
7010 ZRiMORT 6 7 8 6 8 6 12 13 15 4
7020 ZRKHET 8 7 8 13 14 13 11 11 11 8
7030 Z RIRHAET 3 3 7 9 4 10 4 3 4 9
7040 ZRTXKEHET 6 15 12 15 8 5 9 13 8 6
7050 Z RETHISHET 2 3 7 0 7 8 8 5 2 7
9999 ZRBREXE 25 35 42 43 41 42 44 45 40 34



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET (KF)a—K {TEHT (KF) £ 60 61 62 63 64 65 66
8011 IRAETFEERLY 2 2 2 4 2 6 3
8012 IRABTERERA 6 1 8 8 8 4 5
8013 IRABTEER (& 1 1 4 2 5 6 7
8021 IR AHETIZRKLY 5 4 1 7 3 4 8
8022 IRAHETRKA 0 1 0 0 0 0 0
8023 R AETFRK & 0 0 0 2 0 0 0
8031 IRAHETR ALY 4 8 11 5 5 11 9
8032 IRAET R A A 2 0 0 0 0 1 0
8033 IRAET R A 1 0 3 0 0 2 1
8041 IR AETEEIFLY 4 2 2 3 2 2 5
8042 IRAET LR A 0 0 3 1 0 1 4
8043 IR A HT B605% (X 0 3 1 0 0 0 2
8044 IR AET AR 2 0 1 0 1 1 1
8045 IR A HT 860% (F 1 1 1 0 3 1 3
8050 IR AHET IR A 1 9 7 5 8 5 5
8060 F N b ] 7 7 1 1 6 8 8
8070 IRAETER 10 5 5 7 15 7 9
8080 IR A BT S %A 2 5 2 2 3 4 2
8090 IRAETEE 2 0 3 2 3 5 1
8100 IRAETH /R 0 0 1 2 0 1 0
8110 P A< BT 11553 1 1 1 1 4 3 0
8120 IR AETEEME 2 2 6 3 1 4 4
8130 IRAETA E 0 0 3 4 4 3 2
8140 IRAETEEERT 7 12 5 5 4 6 8
8150 IRAETEEERL 1 3 3 6 7 8 3
9999 IRARR X ET 61 67 74 70 84 93 90
9010 FTHEHAREH 21 18 18 18 18 23 26
9020 FTHEHIEER 7 14 8 20 15 15 18
9030 FTHEI#%#H 32 41 34 35 33 30 41
9040 FTHEHRH 35 34 40 42 42 36 42
9999 FTHREXE 95 107 100 115 108 104 127
9110 FEETTHEIE 10 14 14 11 25 19 17
9120 =BT A& 8 15 9 6 10 11 14
9130 FEETRE 3 8 5 3 2 8 5
9140 SRET T AT 20 12 10 12 24 19 21
9150 SERT L 45 21 14 11 20 16 17 20
9160 SEATEE AT 21 24 20 21 25 25 21
9170 =ETNE 30 28 21 21 30 26 32
9180 SEETER 24 29 11 24 25 18 19
9190 fRETZ O 11 9 11 6 8 9 8
9200 SEETET IS 8 3 8 2 10 10 14
9210 RETE 8 17 12 13 13 16 22
9220 SR ET R 23 14 15 17 15 18 19
9230 SEET B M 20 23 24 32 27 23 31
9240 SRETIE R 11 9 7 13 6 6 12
9250 $ERTIL Frth 19 19 16 25 19 9 16
9999 FERXET 237 238 194 226 255 234 271
9310 B SHET AR 9 7 1 7 6 9 5
9320 RIZHETIL 15 7 6 9 8 8 16
9330 B[S ET/NE 9 9 6 3 13 10 7
9340 RISHETE 20 18 16 13 11 16 18
9999 R XE 53 41 39 32 38 43 46
9410 RETTE 11 8 16 12 18 9 18
9420 RETHHE 5 9 12 19 11 6 13
9430 RETEXR 4 7 6 5 6 4 8
9440 RETAEF 1 1 0 0 0 0 0
9450 SRETHER 2 0 0 1 4 0 1
9460 RETCHE 2 2 3 1 1 1 0
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MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TEET (XF)a—F {TIET (KF) 4 60 61 62 63 64 65 66 67 68 69

9470 RETER 0 2 1 0 1 0 0 1 0 0
9480 RETHER 0 1 3 3 0 4 1 6 6 1
9999 RREE 25 30 4 41 41 24 M 60 41 38

99999 a&t 1908 1963 1925 2059 2088 2129 2308 2468 2236 2062



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET (KF)a—K {TEHT (KF) £ 70 71 72 13 714 75 76
10 H ET 1 1 0 2 4 3 1
20 [ st BT 4 5 4 4 4 6 1
30 & HT 4 7 5 4 6 8 7
40 LRHET 3 7 2 4 6 5 4
50 AET—TH 9 11 10 7 5 4 6
60 AETZTH 3 5 11 5 1 3 2
70 AET=TH 5 5 8 8 12 10 5
80 AT I T 3 1 0 1 1 0 3
90 PR T I AT 5 11 6 4 12 6 6
100 Jt o FLET 3 5 3 5 1 3 1
110 ¥ASTHT 24 14 21 18 18 19 22
120 /NAW. N 4 3 4 2 9 2 5
130 TEFHT 3 20 14 7 11 9 9
140 £ [E] T 0 0 0 0 0 0 0
150 TE T 5 7 6 4 12 10 6
9999 KRB XE 76 102 94 75 102 88 78
510 AETMTH 6 13 7 17 15 10 13
520 heEE T 6 1 6 3 5 0 2
530 J\IEHT 4 7 6 5 4 7 2
540 18R HT 12 4 13 15 12 11 9
550 S BT 6 5 9 12 11 9 10
560 = ZEHT 0 2 5 2 5 4 2
570 EEET 1 1 3 0 3 0 0
580 FrEAET 4 8 4 0 3 4 2
590 FEET 1 3 1 2 3 1 0
600 RN 13 11 14 12 19 9 9
610 EHT 3 6 6 4 5 7 6
620 HAE—TH 0 0 0 0 0 0 0
9999 J\ KB XE 56 61 74 72 85 62 55
1010 B AHET 1 2 4 4 6 10 2
1020 L HHET 7 7 8 8 8 6 4
1030 mh A ET 4 4 10 5 9 12 6
1040 Fichag:ii 7 8 8 14 6 3 10
1050 K HAET 6 11 14 10 14 15 9
1060 F_EHT 8 5 15 13 13 2 13
1070 Fr IR ET 9 12 18 13 13 10 6
1080 E HH#T 7 12 6 7 4 12 7
1090 HEHRT 19 13 23 17 16 10 18
1100 L+ BEHRT 5 15 14 18 8 18 12
1110 1S IEET 5 6 6 7 6 2 5
1120 12 1E JTHT 3 0 5 1 3 3 1
1130 + 0T 1 1 3 2 1 0 0
1140 FRRET 0 1 2 0 0 0 0
1150 FERET—TH 5 3 5 9 7 6 4
1160 FEET-TH 2 4 2 12 6 8 8
1170 H7KET 4 6 5 4 8 4 8
1180 BEFLET 10 12 5 5 9 13 10
1190 FEFARHT 3 4 9 2 5 2 5
1200 RKFH—TH 1 1 5 1 5 6 3
1210 XKFHIZTH 0 1 7 3 4 3 3
1220 FHT 3 3 4 2 3 3 3
1230 iRET 7 3 5 4 6 4 0
1240 HEET 2 6 5 5 3 1 2
1250 1= ET 3 3 2 4 4 5 5
1260 yER=E 3T ] 1 3 3 0 1 4 0
1270 HEE 4 3 1 1 2 2 0
1280 FRAE T 2 2 5 3 6 5 7
1290 SR ET 3 4 7 2 5 6 6
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MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TEET (XF)a—F {TIRHET (K=F) & 70 71 72 73 74 75 76

1300 A ZEMT 4 4 4 3 5 4 4
1310 KRIGHET 2 3 4 2 1 1 1
9999 A HEEXE 138 162 214 181 187 180 162
1510 HEHD L BT 11 11 27 23 24 24 16
1520 HE T ET 16 24 24 25 18 22 17
1530 HE#0 ST ET 7 9 15 8 11 14 8
1540 KigFHT 6 19 9 15 16 19 6
9999 FERNAR: X B 40 63 75 T 69 79 47
2010 = EHRHET 2 3 7 5 4 3 3
2020 %= EFhHET 3 3 7 6 3 7 4
2030 JENHT 0 0 0 2 0 1 0
2040 HET—TH 4 7 4 1 7 5 4
2050 WET—TH 6 6 8 6 6 5 3
2060 ¥o HE T 1 1 0 4 2 1 0
2070 FRET—TH 8 2 7 6 11 8 5
2080 FRETZ=TH 5 6 11 1 4 5 6
2090 =g 30 46 68 49 43 37 49
2100 ==bld:] 4 3 3 4 3 7 4
2110 FENNFTET—T B 6 5 3 9 6 5 12
2120 HEHIFTET —T B 3 6 8 6 12 1 5
9999 ZEREXE 72 88 126 99 101 85 95
2510 FA U BT 37 42 58 43 58 50 32
2520 K B2 ET 24 24 18 25 13 12 16
2530 =/NEET 6 3 6 4 8 9 9
2540 FHi5HT 5 14 16 14 19 21 14
2550 SRET 7 6 10 5 6 5 4
2560 = BT 23 22 25 18 31 26 29
2570 KEHRT 4 0 3 1 3 4 4
9999 WERXE 106 111 136 110 138 127 108
3010 RHTET 23 34 25 23 35 31 30
3020 T ET 14 15 21 14 20 17 18
3030 L+ EET 7 18 14 21 13 21 11
3040 =1z 0] 3 3 6 7 5 4 3
3050 o B BT 26 37 43 45 41 39 44
3060 HETHET 13 13 18 25 20 21 18
3070 T BN RT 8 15 16 14 11 18 14
3080 H T 6 3 8 7 12 7 5
3090 H R R ET 7 7 11 10 10 7 6
3100 s2==lsic: ) 12 10 4 8 7 6 6
3110 zZl==pId:1) 4 15 12 17 9 14 7
9999 INTFEREXE 123 170 178 191 183 185 162
3510 SR 1 1 10 2 3 7 4
3520 E R hHET 11 9 10 13 13 7 6
3530 ERTHT 21 23 26 19 17 19 12
3540 Z R KHET 14 5 8 13 14 18 9
3550 AEFHT 15 14 21 21 14 25 15
3560 = FERHET 9 4 5 6 8 12 8
3570 = e 27 24 25 27 22 20 19
3580 3 L BT 8 15 14 14 15 12 16
3590 TEHT 0 0 0 0 0 1 0
9999 SHBEEXE 106 95 119 115 106 121 89
4010 )1 g ET 10 12 15 4 11 13 10
4020 fE&HT 3 2 3 5 4 7 2
4030 1SET 2 2 6 5 9 7 3
4040 = HE A ET 3 2 2 9 6 5 9
4050 7K E/T 3 8 11 8 10 12 9
4060 B2 4 AT 9 9 8 10 8 8 9
4070 At [ ET 2 3 3 2 5 2 4
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MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET(KF)3—F {TEHET (KF) £ 70 72 73 74 75 16 71 718 1719
4080 =T iHiRT 5 8 6 3 4 5 4 14 5 6
4090 R ET 10 5 8 9 13 6 5 6 12 6
4100 A EFNET 1 2 3 1 2 1 3 1 3 3
4110 Jt S FOET 2 1 2 1 2 0 1 2 0 2
9999 R XET 50 54 67 57 74 66 59 68 56 61
4510 ERE—ZHT 17 21 30 25 30 26 16 20 20 23
4520 B FKMET 3 4 5 5 3 5 4 2 4 3
4530 AREE=FHET 2 1 1 4 4 2 3 2 7 5
4540 EREE o K HT 1 2 4 4 4 6 1 4 4 4
4550 AR FHHET 2 2 3 1 2 2 3 0 6 1
4560 EREENTEET 2 0 3 1 3 0 0 0 3 1
4570 L FET 3 4 2 1 4 3 2 2 3 2
4580 AR )\ FEHT 4 1 0 0 1 1 1 2 1 3
4590 EREE N TEHT 2 1 4 0 3 2 5 1 1 0
4600 ERE+ZHT 0 1 3 2 2 1 4 2 1 2
4610 EREE+—FHET 6 0 2 3 4 3 4 5 4 4
4620 B+ — FKHET 4 4 5 4 4 6 3 1 2 7
9999 BERRET 46 41 62 50 64 57 46 41 56 55
5010 REF0 B /T 4 2 7 6 6 9 6 9 3 5
5020 AR FNBA 5T 3 4 1 4 5 4 2 6 6 4
5030 REFNE{— /T 4 2 4 3 7 1 7 7 12 7
9999 AR X &Y 11 8 12 13 18 14 15 22 21 16
5510 b R ET 8 5 6 3 9 12 1 3 5 9
5520 = Hh BT 7 17 18 20 18 15 14 12 12 8
5530 =T 4 13 15 12 7 17 16 11 16 13
5540 T 7 6 12 7 10 15 11 3 12 11
5550 BET 5 1 3 3 2 4 2 0 6 3
9999 =X E 31 42 54 45 46 63 54 29 51 44
6010 it BT /N BR 3 2 2 6 6 4 3 3 3 6
6020 fif] BT e 1 0 2 1 2 3 7 1 4 8
6030 fE BT 2 )1 0 1 3 2 2 4 4 7 1 3
6040 13 FFET 4 7 9 5 7 4 5 5 4 6
6050 JIIEHET R 3 2 4 10 3 7 4 2 4 7
6060 JIIEBETEE 2 4 2 2 4 5 6 2 3 0
9999 BEERRXET 13 16 22 26 24 27 29 20 19 30
6510 H&EA#EAHET 0 1 0 0 2 3 0 0 1 1
6520 H&E A KEHT 3 6 7 7 3 13 4 2 9 4
6530 B &R AFTHET 2 3 4 2 3 6 4 8 4 6
6540 HEAILUTH 11 6 11 12 11 4 5 7 5 9
6550 BEAM 2 NET 1 1 3 1 4 5 3 2 3 5
6560 HEAEILHT 3 6 4 7 8 5 8 7 4 4
6570 HEAGFHET 3 5 6 8 12 8 8 7 5 5
6580 HZEARHT 0 3 5 2 5 3 0 2 6 3
6590 HEARHE 2 3 5 1 3 1 4 1 5 1
6600 HZEAGHT 2 5 4 3 5 2 2 2 3 2
6610 HZEA LT 1 1 1 2 3 1 1 2 1 1
6620 HEAGFHT 1 2 3 3 0 3 1 0 2 2
6630 HEATHAET 2 7 4 4 4 5 5 4 5 4
6640 HEA EHBHT 3 2 1 2 1 0 1 0 2 3
6650 HZEASHE 0 0 0 0 1 0 0 0 0 0
6660 HEAFRHET 0 2 1 1 1 2 4 1 2 2
9999 HEARRKE 34 53 59 55 66 61 50 45 57 52
7010 ZRiMORT 3 10 10 6 10 3 7 3 9 6
7020 ZRKHT 3 4 7 12 4 5 5 11 10 6
7030 Z RIRHAET 1 4 2 2 1 5 3 7 4 4
7040 ZRTXKEHET 6 5 10 9 5 11 8 8 12 9
7050 Z RETHISHET 5 2 6 2 6 2 1 3 4 6
9999 ZRBREXE 18 25 35 31 26 26 24 32 39 31



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET (KF)a—K {TEHT (KF) £ 70 71 72 13 714 75 76
8011 IRAETFEERLY 0 2 3 2 4 1 0
8012 IRABTERERA 2 6 7 1 5 8 4
8013 IRABTEER (& 4 2 4 1 2 1 3
8021 IR AHETIZRKLY 0 5 3 5 4 2 4
8022 IRAHETRKA 0 0 0 1 0 0 0
8023 R AETFRK & 0 2 0 1 0 0 1
8031 IRAHETR ALY 3 5 6 6 8 6 11
8032 IRAET R A A 0 0 0 1 0 0 0
8033 IRAET R A 0 0 1 0 1 0 1
8041 IR AETEEIFLY 1 2 3 2 3 0 4
8042 IRAET LR A 0 2 1 0 5 1 3
8043 IR A HT B605% (X 1 0 0 2 1 0 1
8044 IR AET AR 1 2 1 0 2 2 0
8045 IR A HT 860% (F 2 1 0 2 3 2 2
8050 IR AHET IR A 6 2 6 3 4 2 5
8060 F N b ] 0 0 4 4 7 5 5
8070 IRAETER 4 1 3 3 7 7 4
8080 IR A BT S %A 2 0 1 1 1 1 1
8090 IRAETEE 2 0 2 2 3 0 2
8100 IRAETH /R 0 0 0 3 0 3 0
8110 P A< BT 11553 0 1 2 1 3 2 1
8120 IR AETEEME 3 5 6 3 4 1 5
8130 IRAETA E 0 4 0 5 2 2 5
8140 IRAETEEERT 3 4 9 5 7 1 6
8150 IRAETEEERL 1 1 1 4 6 1 5
9999 IRARR X ET 35 47 63 58 82 48 73
9010 FTHEHAREH 8 19 25 18 18 14 15
9020 FTHEHIEER 7 12 12 7 10 12 10
9030 FTHEI#%#H 13 26 25 25 20 22 18
9040 FTHEHRH 16 41 39 35 34 38 27
9999 FTHREXE 44 98 101 85 82 8 70
9110 FEETTHEIE 14 21 24 13 12 10 18
9120 =BT A& 6 7 10 4 4 10 5
9130 FEETRE 1 3 10 8 5 4 1
9140 SERT T A 5 13 14 7 7 6 3
9150 SERT L 45 13 12 16 17 14 16 10
9160 SEATEE AT 14 26 21 21 22 17 18
9170 =ETNE 15 25 30 23 24 32 18
9180 SEETER 14 24 17 18 22 19 20
9190 f=ETZ A 3 4 5 8 10 5 7
9200 SEETET IS 6 4 5 8 6 10 1
9210 RETE 7 10 14 7 13 13 13
9220 SR ET R 6 10 15 22 24 8 16
9230 SEET B M 9 16 18 14 18 17 11
9240 SRETIE R 5 10 5 8 10 9 9
9250 $ERTIL Frth 6 9 9 9 10 18 10
9999 FERXET 124 194 213 187 201 194 160
9310 B SHET AR 5 7 4 8 9 9 14
9320 RIZHETIL 6 6 9 2 1 9 10
9330 B[S ET/NE 7 8 3 5 10 3 8
9340 RISHETE 7 14 7 9 16 22 18
9999 R XE 25 35 23 24 46 43 50
9410 RETTE 8 4 18 9 13 16 14
9420 RETHHE 7 10 19 9 9 12 17
9430 RETEXR 4 5 11 7 12 11 6
9440 RETAEF 0 1 1 0 1 0 2
9450 SRETHER 0 1 0 0 1 1 0
9460 RETCHE 2 0 1 1 2 1 2
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MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TEET (XF)a—F {TIRHET (K=F) & 70 71 72 73 74 75 76

717 78 79
0 0 0
3 3 3

49 53 45

9470 RETEXR 1 0 0 0 0 1 0
9480 SRETHER 4 1 1 1 1 3 1
9999 REEXE 26 22 51 27 39 45 42
99999 =11 1174 1487 1778 1572 1739 1657 1468 1419 1558 1595



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET (KF)a—K {TEHT (KF) £ 80 81 82 83 8 8 8 87
10 H ET 8 1 6 5 5 5 3 3
20 [ st BT 9 3 6 1 3 8 5 0
30 & HT 1 3 5 2 6 6 10 7
40 LRHET 2 4 1 2 4 3 1 2
50 AET—TH 8 5 6 10 4 2 5 5
60 AETZTH 5 2 1 3 1 2 3 0
70 AET=TH 6 7 5 4 3 5 4 5
80 AT I T 1 1 0 2 1 2 0 1
90 PR T I AT 8 2 3 2 2 1 6 6
100 Jt o FLET 1 2 4 0 2 3 1 2
110 ¥ASTHT 25 32 18 20 19 16 13 9
120 AT AHT 1 3 4 9 3 4 4 3
130 TEFHT 8 7 10 9 11 8 10 8
140 £ [E] T 0 0 0 0 0 0 0 0
150 FEFHET 5 6 0 4 0 1 4 1
9999 KRB XE 88 78 69 73 64 66 69 52
510 AETMTH 8 8 8 13 12 7 10 5
520 heEE T 2 5 0 1 2 2 4 1
530 J\IEHT 8 5 5 7 11 4 8 4
540 15 EET 15 4 7 4 4 6 3 8
550 S BT 1 5 5 4 1 5 3 2
560 = ZEHT 3 6 2 1 2 3 1 0
570 EEET 1 0 1 2 2 1 4 2
580 FrEAET 3 2 1 4 4 2 4 1
590 FEET 1 2 1 4 1 4 1 0
600 RN 9 12 10 5 6 5 3 3
610 EHT 4 3 6 4 8 4 2 1
620 HAE—TH 0 0 0 0 0 0 0 0
9999 J\ KB XE 55 52 46 49 53 43 43 27
1010 B AHET 2 4 5 3 2 2 6 7
1020 L HHET 13 6 2 9 1 2 4 5
1030 mh A ET 5 8 6 7 3 4 3 5
1040 Fichag:ii 10 11 9 17 9 6 9 9
1050 K HAT 18 14 11 13 3 12 8 4
1060 F_EHT 14 5 6 7 9 8 3 6
1070 Fr IR ET 11 10 8 12 1 11 4 9
1080 E M HET 7 5 1 10 6 4 5 4
1090 HEHRT 12 20 15 9 17 16 13 12
1100 L+ BEHRT 9 17 10 17 12 7 13 6
1110 1S IEET 5 6 3 6 2 0 2 2
1120 12 1E JTHT 6 3 4 0 3 2 3 1
1130 + 0T 2 0 1 0 2 0 1 0
1140 FRRET 0 0 2 1 1 0 0 0
1150 FERET—TH 2 8 4 4 3 4 0 5
1160 FEET-TH 10 10 10 5 3 7 6 3
1170 H7KET 2 5 10 2 1 0 5 1
1180 BEFLET 8 4 4 8 6 4 2 4
1190 FEFARHT 7 1 4 6 0 1 1 1
1200 RKFH—TH 9 5 1 2 5 1 5 1
1210 XKFHIZTH 3 0 4 4 4 2 2 0
1220 FHT 4 5 5 5 3 3 5 3
1230 iGET 3 5 5 5 6 3 4 3
1240 HEET 4 4 1 0 6 2 2 1
1250 1= ET 4 1 5 6 1 3 2 1
1260 JBh & 3 3 3 0 0 0 0 1
1270 HEHET 1 2 1 6 4 4 0 1
1280 FRAE T 3 7 5 4 3 2 1 1
1290 SR ET 3 5 1 5 7 4 2 5
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MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TEET (XF)a—F {TIRHET (K=F) & 80 81 82 83 84 85 86

1300 A ZEMT 6 7 5 6 2 4 4
1310 KRIGHET 4 2 0 0 2 2 0
9999 A HEEXE 190 183 151 179 137 120 115
1510 HEHD L BT 14 20 12 18 14 11 15
1520 HE T ET 15 16 10 5 13 10 6
1530 HE#0 ST ET 7 13 8 11 13 5 8
1540 KigFHT 8 8 16 7 5 5 9
9999 FERNAR: X B 4 57 46 41 45 31 38
2010 = EHRHET 5 5 3 1 4 0 3
2020 %= EFhHET 0 4 6 4 7 1 3
2030 JENHT 0 0 0 0 0 0 0
2040 HET—TH 10 4 7 8 3 2 8
2050 WET—TH 6 9 4 10 9 0 3
2060 ¥o HE T 1 0 0 0 2 1 1
2070 FRET—TH 8 7 2 9 5 4 10
2080 FRETZ=TH 6 4 4 4 4 2 3
2090 =g 39 43 41 47 38 32 29
2100 ==bld:] 6 5 3 3 5 1 2
2110 FENNFTET—T B 8 5 1 2 1 4 3
2120 HEHIFTET —T B 4 2 3 3 1 6 4
9999 ZEREXE 93 88 74 91 79 53 69
2510 FA U BT 42 34 35 24 27 18 30
2520 K B2 ET 18 14 15 13 16 10 7
2530 =/NEET 4 5 3 9 6 11 2
2540 FHi5HT 12 10 13 16 7 10 10
2550 SRET 7 6 4 7 4 5 4
2560 = BT 16 17 18 23 7 16 11
2570 KEHRT 5 3 4 1 3 2 1
9999 WERXE 104 89 92 93 70 72 65
3010 RHTET 27 22 23 19 23 19 7
3020 T ET 13 21 13 14 13 9 10
3030 L+ EET 10 13 5 11 8 9 9
3040 =1z 0] 7 3 6 3 4 2 3
3050 o B BT 28 35 26 26 20 21 19
3060 HETHET 17 17 14 17 9 8 11
3070 T BN RT 12 17 9 11 6 13 5
3080 H T 3 3 4 10 5 4 6
3090 H R R ET 9 5 6 5 5 7 2
3100 ZZ==Tic]:0 6 6 4 2 5 3 2
3110 zZl==pId:1) 3 4 8 9 6 2 3
9999 INTFEREXE 135 146 118 127 104 97 77
3510 SR 6 8 6 5 6 3 2
3520 E R hHET 7 6 11 9 11 15 5
3530 ERTHT 19 18 20 16 15 21 9
3540 =B RHT 12 9 9 9 8 3 4
3550 AEFHT 20 26 25 18 16 22 17
3560 = FERHET 4 9 7 12 5 7 4
3570 = e 15 11 21 16 13 9 11
3580 3 L BT 10 4 12 14 5 2 5
3590 TEHT 0 0 0 1 3 0 1
9999 SHBEEXE 93 91 111 100 82 82 58
4010 )1 g ET 13 16 7 4 13 5 6
4020 fE&HT 1 2 4 4 0 2 3
4030 1SET 12 9 10 4 5 2 9
4040 = HE A ET 8 6 4 2 4 5 1
4050 7K E/T 12 18 12 14 8 5 6
4060 B2 4 AT 8 6 11 3 9 7 4
4070 At [ ET 5 8 3 7 1 6 2

87

104

N — —_
o —=wOoH

N

— O

—_—

—_
(&)
WO WPRANWAEAJIWOINOI——OOOW—-OPR~o—=-N—

A= P, DBDPPAO0OONON—_TNJdJOOPAAI—=0ONDN

(o]

—_
o

N
PO PO DBDOOCWANDAEANOCOWLWONOWPROUINNOOKLCOOU

N W -

S —_—
oo

—_ —_
wWwh JO

~

N
NNNMNNINOONOOOPRADODPAONOO RN —-O0OSMO©O

—_

(o]

~

N

- N

-

—_—

(8]

w
W= WW—= =IO DN NNIdO—=O0OIN—=WONUOINWUIUINOW—L ONDIPDPWOITOPRAPOWOONOPAANOOOUGIONO © NN —©©

—_—



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET(KF)3—F {TEHET (KF) £ 80 81 82 83 8 85 86 87 88
4080 =T iHiRT 4 8 6 3 3 1 5 2 4
4090 R ET 16 9 12 4 10 12 3 5 4
4100 A EFNET 4 4 5 10 6 4 4 6 4
4110 Jt S FOET 2 2 7 11 1 6 10 4 6
9999 R XET 85 88 81 66 60 55 53 41 58
4510 ERE—ZHT 24 17 13 9 16 10 10 8 14
4520 B FKMET 3 2 5 2 5 5 4 4 2
4530 AREE=FHET 7 2 6 4 6 2 3 3 4
4540 ERZE FHT 4 1 0 3 3 3 1 1 4
4550 AR FHHET 0 2 3 4 4 2 2 2 0
4560 EREENTEET 3 2 3 2 4 4 2 2 1
4570 ARECHET 2 3 1 4 3 2 3 2 4
4580 AR )\ FEHT 1 0 1 0 0 2 1 2 3
4590 AR N FHET 2 1 1 0 2 0 4 2 1
4600 ERE+ZHT 2 5 0 2 1 2 1 1 1
4610 EREE+—FHET 5 4 2 2 4 2 2 3 1
4620 B+ — FKHET 5 4 8 4 2 2 6 8 2
9999 BERRET 58 43 43 36 50 36 39 38 37
5010 REF0 B /T 6 8 4 6 2 1 3 5 1
5020 RE FOBA 4 ET 8 6 5 1 3 1 1 2 2
5030 REFNE{— /T 6 6 0 4 2 1 5 0 5
9999 AR X &Y 20 20 9 11 7 3 9 7 8
5510 b R ET 9 9 4 7 5 3 4 4 3
5520 = Hh BT 12 14 15 19 11 10 13 9 11
5530 =T 15 10 11 16 7 10 11 6 8
5540 T 5 7 3 8 13 6 11 2 4
5550 BET 2 4 3 1 4 2 1 2 3
9999 =X E 43 44 36 51 40 31 40 23 29
6010 [iE] BT /)N B 4 5 0 5 5 1 2 1 1
6020 fif] BT e 3 4 3 7 3 3 5 3 1
6030 [ BT &)1 2 5 2 5 5 0 1 1 1
6040 13 FFET 6 3 3 6 10 8 6 2 4
6050 JIIEHET R 2 6 5 3 3 12 3 4 2
6060 JIIEBETEE 1 4 1 4 2 5 3 3 4
9999 BEERRXET 18 27 14 30 28 29 20 14 13
6510 H&EA#EAHET 1 1 0 1 1 0 0 0 0
6520 H&E A KEHT 6 4 4 4 7 7 1 5 1
6530 B &R AFTHET 4 3 3 2 3 3 3 4 0
6540 HEAILUTH 6 8 7 6 4 2 6 3 5
6550 BEAM 2 NET 2 2 4 2 2 0 1 1 4
6560 HEAEILHT 5 5 6 2 1 5 4 1 5
6570 HEAGFHET 2 4 6 8 5 2 2 8 2
6580 HZEARHT 7 4 4 3 3 5 3 4 4
6590 HEARHE 1 5 0 1 4 2 1 3 0
6600 HZEAGHT 4 3 6 3 2 3 0 1 3
6610 HZEA LT 3 1 1 1 2 0 0 1 3
6620 HEAGFHT 2 0 1 1 2 1 2 2 1
6630 HEATHAET 5 5 4 2 7 3 6 6 4
6640 HEA EHBHT 0 4 0 1 2 2 1 1 1
6650 HZEASHE 0 0 1 0 0 0 0 0 0
6660 HEAFRHET 4 1 0 3 3 1 6 1 2
9999 HEARRKE 52 50 47 40 48 36 36 41 35
7010 ZRiMORT 10 6 2 4 4 5 5 5 3
7020 ZRKHT 12 6 4 5 7 5 7 9 5
7030 Z RIRHAET 5 10 3 1 8 4 4 4 1
7040 ZRTXKEHET 7 6 11 6 16 9 9 10 2
7050 Z RETHISHET 6 4 4 4 2 5 3 2 2
9999 ZRBREXE 40 32 24 20 37 28 28 30 13

(o]

I

N

—_—

w

—_—

w
WON—- DO JWOWNON—ONMODWSO—=~DPDOOPRLAPPDDWN—==-NN—_OOOOORL - === 00—~ 0O0OONNOAO—-=ANI—=—=WhA~MO

N



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET (KF)a—K {TEHT (KF) £ 80 81 82 83 84 8 86
8011 IRAETFEERLY 6 3 2 6 6 0 2
8012 IRABTERERA 4 6 5 5 3 5 1
8013 IRABTEER (& 4 5 5 5 4 3 1
8021 IR AHETIZRKLY 5 3 5 1 4 5 2
8022 IRAHETRKA 1 0 0 1 0 1 1
8023 R AETFRK & 0 0 3 1 0 0 0
8031 IRAHETR ALY 6 7 11 9 12 5 6
8032 IRAET R A A 0 2 1 0 1 0 0
8033 IRAET R A 1 1 1 1 0 3 0
8041 IR AETEEIFLY 6 4 3 3 5 6 2
8042 IRAET LR A 1 0 1 0 2 0 1
8043 IR A HT B605% (X 1 2 1 1 1 1 0
8044 IR AET AR 0 2 0 2 2 1 1
8045 IR A HT 860% (F 3 3 3 3 0 3 2
8050 IR AHET IR A 12 10 10 11 10 9 6
8060 F N b ] 4 7 5 10 5 6 6
8070 IRAETER 6 6 3 4 11 9 10
8080 IR A BT S %A 2 3 6 1 4 2 3
8090 IRAETEE 6 3 1 3 4 1 4
8100 IRAETH /R 1 0 3 2 2 2 1
8110 P A< BT 11553 3 5 1 2 2 7 2
8120 IR AETEEME 5 3 4 4 3 3 4
8130 IRAETA E 7 2 5 4 2 2 4
8140 IRAETEEERT 9 4 8 1 4 6 1
8150 IRAETEEERL 3 5 4 2 1 3 7
9999 IRARR X ET 96 86 91 82 88 83 67
9010 FTHEHAREH 12 15 11 17 14 22 10
9020 FTHEHIEER 10 7 9 9 9 15 8
9030 FTHEI#%#H 21 24 13 19 20 13 11
9040 FTHEHRH 40 23 29 31 12 29 15
9999 FTHREXE 83 69 62 76 55 79 44
9110 Fi =R 12 20 7 9 9 4 9
9120 =BT A& 3 7 4 4 6 9 3
9130 FEETRE 4 5 4 5 4 3 6
9140 SERT T A 11 7 8 3 1 11 7
9150 SERT L 45 9 7 19 5 11 9 9
9160 SEETER AT 20 17 17 23 13 19 9
9170 =ETNE 23 20 23 23 28 22 13
9180 SEETER 23 20 18 16 16 15 18
9190 f=ETZ A 7 6 5 8 1 2 3
9200 SEETET IS 7 11 2 9 5 4 8
9210 SEETEH 11 6 9 12 11 7 7
9220 SR ET R 23 21 11 28 6 11 19
9230 SEET B M 21 20 12 18 16 12 10
9240 SRETIE R 14 6 10 9 9 5 3
9250 $ERTIL Frth 20 17 11 9 16 10 13
9999 FERXET 208 190 160 181 152 143 137
9310 B SHET AR 7 13 5 8 11 8 9
9320 RSETIE 10 11 15 6 5 4 6
9330 B[S ET/NE 5 6 7 9 4 6 7
9340 HZET 5 12 11 10 6 9 12
9999 R XE 27 42 38 33 26 27 34
9410 RETTE 15 14 8 4 5 11 13
9420 RETHHE 9 14 8 5 8 13 6
9430 RETEXR 9 4 9 7 9 4 4
9440 RETAEF 1 2 1 3 3 0 0
9450 SRETHER 2 0 1 4 0 5 0
9460 RETCHE 3 1 2 1 0 2 2

WWN—-N—- 001D CTO—-=-NO—-=WONN—==DBDNNMNNJ

[
SCwo N

(&)
—_

OO OO WOUNRANdINDPDPOOODWOOONIOOOONONO O

NO—-NAA=2 = WOPRON—- 000 =000~ DwWwNO

-
(o> B0 N NN

N =
o wWN

11

106

OCOOPh~,ONOOOOIOINO

(o]

OO -0 —-=-N—-DWOOCOO O~~~ —-001O0CO—=—=NIMO©

WO WO OUITOWOORANOIOIOUIOOONWRAN



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TEET (XF)a—F {TIET (KF) 4 80 81 82 83 8 85 86 87 88 89

9470 RETER 0 0 0 0 0 1 0 2 0 1
9480 RETHER 0 0 1 0 1 2 0 1 5 1
9999 RREE 39 35 30 24 26 38 25 18 20 20

99999 a&t 1571 1510 1342 1403 1251 1152 1066 915 884 739



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET (KF)a—K {TEHT (KF) £ 90 91 92 93 94 95 96
10 H ET 2 0 0 0 0 1 0
20 [ st BT 3 0 1 0 1 0 1
30 & HT 4 6 2 2 4 2 2
40 LRHET 4 1 1 0 0 0 0
50 AET—TH 4 1 3 0 1 0 2
60 AETZTH 2 5 3 2 0 1 2
70 AET=TH 3 4 1 2 2 1 4
80 AT I T 1 0 0 0 0 0 1
90 PR T I AT 2 1 1 1 1 1 1
100 Jt o FLET 0 0 1 0 0 0 0
110 ¥ASTHT 12 10 2 3 1 3 3
120 /NAW. N 1 0 0 2 0 0 0
130 TEFHT 2 5 4 0 2 1 0
140 £ [E] T 0 0 0 0 0 0 0
150 FEFHET 2 2 0 0 0 1 0
9999 KRB XE 42 35 19 12 12 11 16
510 AETMTH 3 2 4 3 2 1 0
520 heEE T 0 0 0 0 1 0 0
530 J\IEHT 5 2 2 0 1 3 1
540 15 EET 2 1 2 0 2 1 0
550 S BT 1 1 0 0 0 2 1
560 = ZEHT 2 2 0 0 0 1 0
570 EEET 1 1 0 0 0 0 0
580 $BHET 1 1 1 1 0 1 1
590 FEET 1 1 0 1 0 0 0
600 RN 5 2 1 1 1 1 0
610 EHT 3 0 0 1 0 2 0
620 HAE—TH 0 0 0 0 0 0 0
9999 J\ KB XE 24 13 10 7 7 12 3
1010 B AHET 2 0 4 1 0 0 0
1020 L HHET 3 3 3 3 1 0 0
1030 mh A ET 4 1 2 0 0 1 1
1040 Fichag:ii 6 4 3 1 2 1 1
1050 K HAT 2 3 4 2 0 2 0
1060 F_EHT 3 3 4 2 2 0 2
1070 Fr IR ET 3 6 5 1 0 2 0
1080 E M HET 2 3 0 1 2 0 0
1090 HEHRT 3 5 3 4 1 1 1
1100 L+ BEHRT 5 4 3 5 2 2 0
1110 1S IEET 0 1 0 0 1 0 1
1120 12 1E JTHT 7 2 1 1 0 0 0
1130 + 0T 0 1 1 1 0 0 0
1140 FRRET 0 0 0 0 0 0 0
1150 FERET—TH 2 1 3 1 2 0 0
1160 FEET-TH 0 2 2 3 1 0 1
1170 H7KET 0 1 1 0 1 1 1
1180 BEFLET 4 3 1 1 0 1 1
1190 FEFARHT 3 7 3 3 1 1 0
1200 RKFH—TH 1 0 2 1 2 1 1
1210 XKFHIZTH 2 2 2 0 0 1 0
1220 FHT 1 0 1 1 1 0 0
1230 iRET 5 1 0 2 0 0 0
1240 HEET 1 0 1 0 0 1 0
1250 1= ET 0 0 0 0 0 0 0
1260 yER=E 3T ] 1 0 0 0 0 1 0
1270 HEHET 0 3 2 0 1 0 0
1280 FRAE T 2 0 0 2 1 0 0
1290 SR ET 4 3 1 0 0 0 0

OO - —- 000000~ 000~ 0000 O~ 00O PPRODODODODWOOOOOOONOOO—-UI—O0O0O0OO0OO0ODO0OO0OO 00O —~0ONJ

OO OO0 O0OO0ODO0OO0OOON—- 00000 O0ONOOODODO 00O ONOOOOOOOO OO OO 0000 —~0 00— 0—-00—=-0—=0

— 00000000~ 0000 —~000O0O -0~ 00—~ 0000000000000 OOPMODOOOON—-~OCOO—~~0O0OO0OOCOOOC©



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET (KF)a—K {TEHT (KF) £ 90 91 92 93 94 95 96
1300 A ZEMT 0 1 2 1 1 0 0
1310 KRIGHET 0 0 0 0 0 0 0
9999 A HEEXE 66 60 54 37 22 16 10
1510 HEHD L BT 10 8 3 3 1 2 0
1520 HE T ET 7 5 1 3 3 4 3
1530 HE#0 ST ET 4 1 3 6 0 1 3
1540 KigFHT 7 6 2 3 5 1 3
9999 FERNAR: X B 28 20 9 15 9 8 9
2010 = EHRHET 1 0 1 1 0 0 0
2020 %= EFhHET 0 2 3 0 0 2 1
2030 J0ET 0 0 0 0 0 1 0
2040 HET—TH 5 3 0 1 3 0 0
2050 WET—TH 2 0 0 3 2 0 0
2060 g FE BT 0 0 1 0 1 0 0
2070 FRET—TH 2 1 5 2 0 2 1
2080 FRETZ=TH 2 2 3 1 2 0 1
2090 Ty ET 15 11 15 6 4 4 3
2100 ==bld:] 3 2 1 1 0 1 0
2110 FENNFTET—T B 0 0 4 0 0 1 0
2120 HEHIFTET —T B 0 2 1 2 1 1 0
9999 ZEREXE 30 23 3 17 13 12 6
2510 FA U BT 8 9 6 9 5 6 5
2520 K B2 ET 4 4 4 5 1 3 0
2530 =/NEET 3 2 2 1 2 2 0
2540 FHiGHT 4 0 3 2 1 1 0
2550 SPHET 3 3 2 1 1 0 1
2560 = BT 6 7 4 4 3 2 1
2570 KEHRT 0 1 1 0 0 0 0
9999 WERXE 28 26 22 22 13 14 7
3010 RHTET 2 3 5 5 6 0 3
3020 MELTHET 7 10 8 5 4 1 0
3030 L+ EET 3 5 3 6 3 3 2
3040 =1z 0] 3 1 0 1 0 0 0
3050 T R ET 12 7 12 7 11 6 3
3060 H R THT 7 5 4 3 7 0 0
3070 T BREET 4 4 3 3 1 2 2
3080 H T 1 3 1 2 2 0 1
3090 H R R ET 3 3 1 1 1 0 0
3100 H # FET 1 2 1 1 3 0 1
3110 zZl==pId:1) 1 2 4 2 0 0 0
9999 INTFEREXE 4 45 42 36 38 12 12
3510 SR 5 3 0 1 1 0 0
3520 E R hHET 2 2 2 1 2 3 1
3530 EETH 4 4 7 3 0 1 4
3540 Z R KHET 4 3 2 4 4 1 0
3550 AEFHT 7 6 4 4 5 2 0
3560 = FERHET 2 1 2 3 0 1 0
3570 = e 6 3 3 2 1 3 1
3580 3 L BT 5 4 2 0 1 0 1
3590 TEHT 0 0 0 0 0 0 0
9999 SHBEEXE 35 26 22 18 14 11 7
4010 201 P ET 5 9 4 4 2 1 0
4020 fE&HT 4 1 1 0 1 0 1
4030 1SET 1 3 3 1 1 1 0
4040 = HE A ET 5 2 3 1 1 0 0
4050 K E/T 7 4 3 1 1 3 0
4060 B2 4 AT 8 6 4 3 1 2 0
4070 At [ ET 2 0 2 0 0 0 1

OCUIO - O —-NWOOOOOO—-~NOOO—~~0O0O -0 - PO -~ NOPMPO—-—- 00—~ WOOOWOOOOOOOOO—~0OO0O—~00WOOoOJ

— ONO—-O0OMNWO—-000O0O 00 —-NOOODOO -0~ 000WONODOOO—-~DhhOOONODOOONOODO OO0 =W —=—=0

O 0000 O0OWOO -0~ 0~ 00 W00~ 0000~~~ 00O PO O 0O WOWOOOWOOOOOODOODOOoOUI—==—=NOWO —0©



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET (KF)a—K {TEHT (KF) £ 90 91 92 93 94 95 96
4080 =T iHiRT 3 0 0 1 0 1 0
4090 R ET 6 1 2 1 0 0 0
4100 Rl 1 2 0 1 0 1 0
4110 Jt S FOET 2 2 2 1 0 0 1
9999 R XET 4 30 24 14 7 9 3
4510 ERE—ZHT 9 4 8 5 2 2 2
4520 B FKMET 3 2 1 2 1 0 0
4530 AREE=FHET 3 0 0 0 1 0 0
4540 ERZE FHT 4 1 1 1 0 0 2
4550 AR FHHET 0 0 0 1 1 0 0
4560 EREENTEET 0 1 1 0 1 0 0
4570 ARECHET 1 0 2 1 1 0 0
4580 AR )\ FEHT 3 1 1 2 0 0 0
4590 AR N FHET 1 0 0 1 0 0 0
4600 ERE+ZHT 0 0 1 0 0 0 0
4610 EREE+—FHET 2 0 1 1 2 1 0
4620 B+ — FKHET 2 1 0 2 0 1 0
9999 BERRET 28 10 16 16 9 4 4
5010 REF0 B /T 1 1 0 3 0 1 0
5020 AR FNBA 5T 0 4 1 1 2 1 1
5030 REF0E{_HT 4 2 0 0 0 3 0
9999 AR X &Y 5 7 1 4 2 5 1
5510 b R ET 8 0 1 1 0 1 1
5520 = Hh BT 7 6 4 3 2 3 1
5530 =T 7 2 1 3 2 4 1
5540 T EEET 2 4 1 2 1 1 2
5550 BET 2 0 2 1 2 0 1
9999 =X E 26 12 9 10 7 9 6
6010 [iE] BT /)N B 0 3 0 1 0 0 0
6020 fif] BT e 3 2 1 2 1 0 1
6030 [ BT &)1 1 1 2 0 1 0 0
6040 13 FFET 3 1 2 1 2 3 1
6050 JIIEHET R 2 2 0 1 0 0 0
6060 JIIEBETEE 1 1 2 0 0 0 0
9999 BEERRXET 10 10 7 5 4 3 2
6510 H&EA#EAHET 1 0 0 0 0 0 0
6520 H&E A KEHT 4 2 0 1 2 0 4
6530 B &R AFTHET 0 2 1 1 0 1 0
6540 HEAILUTH 3 2 0 3 1 0 1
6550 BEAM 2 NET 1 2 1 0 0 0 1
6560 HEAEILHT 4 2 3 0 0 1 1
6570 HEAGFHET 6 4 2 4 0 2 0
6580 HZEARHT 2 2 0 3 1 1 1
6590 HEARHE 4 1 0 1 0 0 1
6600 HZEAGHT 0 3 0 0 0 0 1
6610 HZEA LT 6 1 0 1 0 0 1
6620 HEAGFHT 0 2 1 1 0 0 0
6630 HEATHAET 2 3 1 1 2 0 0
6640 HEA EHBHT 2 1 0 1 0 1 0
6650 HZEASHE 0 0 0 0 0 0 0
6660 HEAFRHET 1 5 0 1 1 0 0
9999 HEARRKE 36 32 9 18 7 6 11
7010 ZRNOmE 4 2 0 1 2 2 2
7020 ZRKHT 2 5 1 4 4 1 0
7030 Z RIRHAET 2 1 0 0 2 0 0
7040 ZRTXKEHET 5 4 0 1 3 1 0
7050 Z RETHISHET 5 0 3 1 3 1 0
9999 ZR&EXE 18 12 4 7 14 5 2

— 0O 00O~ WOOOOOOOOONOOO 00O~ 00000 WOO - 0000 WOO0OO0OO0OO0O—~000O0O—~~—-OVWO0O0OO0OO

NO—-—-00h,~,r—-~00— 00000 - 0000000000 —~00O0O -0~ 00 —-~-NOOCOO0OOO—-0000O0O—~00ONOO—=0O0

OO OO OO WOO 0000~ 00—~ 00000000 O0OO0OOONOOO 000 O0ONOOO0OO0OO0O 00000~~~ 0000C©



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TRET (KF)a—K {TEHT (KF) £ 90 91 92 93 94 95 96
8011 IRAETFEERLY 1 0 3 0 1 0 1
8012 IRABTERERA 5 1 1 1 0 1 0
8013 IRABTEER (& 0 1 1 2 0 1 0
8021 IR AHETIZRKLY 3 1 0 1 0 0 0
8022 IRAHETRKA 0 0 1 0 0 0 0
8023 R AETFRK & 0 1 0 0 0 0 0
8031 IRAHETR ALY 4 2 2 1 0 2 1
8032 IRAET R A A 1 0 0 0 0 0 0
8033 IRAET R A 1 0 0 0 1 0 0
8041 IR AETEEIFLY 2 0 2 2 1 1 0
8042 IRAET LR A 1 1 0 0 0 0 0
8043 IR A HT B605% (X 1 0 1 2 0 0 0
8044 IR AET AR 1 0 0 2 0 0 0
8045 IR A HT 860% (F 1 0 0 1 1 1 0
8050 Yo AR BT IR A 5 4 7 4 2 4 2
8060 F N b ] 0 7 3 2 0 1 2
8070 IRAETER 4 4 2 4 0 0 0
8080 IR A BT S %A 2 0 0 2 0 0 0
8090 IRAETEE 1 0 2 1 1 1 0
8100 IRAETH /R 0 1 2 0 0 0 0
8110 P A< BT 11553 0 2 0 0 1 0 0
8120 IR AETEEME 2 2 3 3 3 0 1
8130 IRAETA E 1 1 0 0 0 0 1
8140 IRAETEEERT 1 4 2 4 0 1 0
8150 IRAETEEERL 0 2 2 2 0 1 0
9999 IRARR X ET 37 34 34 34 11 14 8
9010 FTHEHAREH 11 9 6 2 7 6 3
9020 FTHEHIEER 6 5 1 2 4 6 2
9030 FTHEI#%#H 8 15 4 3 5 2 0
9040 FTHEHRH 10 13 6 9 8 4 6
9999 FTHREXE 35 42 17 16 24 18 11
9110 Fi =R 8 4 4 1 3 4 2
9120 =BT A& 9 0 1 2 0 1 1
9130 FEETRE 4 3 0 0 0 1 0
9140 SERT T A 4 3 3 1 4 2 0
9150 SERT L 45 4 2 3 4 1 2 0
9160 SEATEE AT 3 5 4 5 3 4 2
9170 =ETNE 11 4 3 5 6 2 3
9180 SR ET 85 9 9 5 5 3 0 0
9190 f=ETZ A 2 0 2 3 1 1 1
9200 SEETET IS 1 4 0 1 1 0 0
9210 RETE 1 5 1 3 0 1 2
9220 SR ET R 13 7 9 3 6 3 6
9230 SEET B M 10 7 7 3 3 2 2
9240 SRETIE R 2 3 1 1 0 2 0
9250 $ERTIL Frth 6 4 1 0 1 0 1
9999 FERXET 87 60 44 37 32 25 20
9310 B SHET AR 7 6 1 3 0 2 0
9320 RSETIE 3 4 0 2 3 2 2
9330 B[S ET/NE 0 3 2 1 0 0 0
9340 HZET 4 5 6 4 1 4 1
9999 R XE 14 18 9 10 4 8 3
9410 RETTE 1 6 2 0 4 1 0
9420 RETHHE 4 2 3 3 1 2 1
9430 RETEXR 5 3 0 1 2 4 0
9440 RETAEF 0 0 1 0 0 0 0
9450 SRETHER 1 1 2 0 0 0 0
9460 RETCHE 1 2 1 0 1 0 0

OCOO0OO0COO0OO0O -0~ 00WO—~-~N—- 00—~ 0ON—- 000 O NW—- = NDPPO—-00O0OCOCODODOONODOOOODOOOOOOO—~0Y

OO0 === DPRW—L000WOOODOONO—=-—-0ON—- = 000ION—-NUUIOOOODOODOO—-0ONOODODODODODODODODOOONOO©®

OCOO0OCOCOO PR 0O0NOCOOOPPNODOO - = -0~ 00O PO —-—-NOOOOO—~~0O0O0OO0OO—-~NOOO—~00000O00O00O0CO0OO —~0©



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TEET (XF)a—F {TIRHET (K=F) & 90 91

9470
9480
9999
99999

RETEXR 0 0
SRETHER 1 1
REXET 13 15

&&t 650 530

92
0

3
12
398

93
0

1

5
340

94
0

0

8
257

95
0

0

7
209

96
0

0

1
142



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TR (XF)a—F {TIRET (KF)4 100l AOE

10 H ET 0 305
20 [ 1L BT 2 289
30 & HT 1 425
40 LRHET 0 2217
50 AET—TH 0 533
60 AETZTH 0 395
70 AET=TH 0 616
80 AT YR ET 0 73
90 PR T I AT 1 396
100 Jt o FLET 0 243
110 ¥ASTHT 0 2488
120 AT AHT 0 406
130 TEFHT 0 755
140 £ ] T 0 53
150 FEFHET 0 724
9999 KRB XE 4 7928
510 AETMTH 1 799
520 hEEEHT 0 292
530 J\IEHT 0 461
540 15 EET 0 858
550 S BT 0 722
560 = ZEET 0 175
570 EEET 0 139
580 $BHET 0 247
590 FEET 0 109
600 RN 0 1324
610 EHT 0 337
620 EET—TH 0 2
9999 J\ KB XE 1 5465
1010 B AHET 1 406
1020 L HHET 0 681
1030 mh A ET 0 619
1040 Fichag:ii 0 1075
1050 K HAET 0 1244
1060 F_EHT 2 1023
1070 Fr IR ET 0 1298
1080 E HH#T 0 868
1090 HEHRT 1 1338
1100 L+ BEHRT 0 1108
1110 1S IEET 0 339
1120 12 1E JTHT 1 153
1130 + 0T 0 67
1140 FRRET 0 25
1150 FERET—TH 0 386
1160 FEET-TH 0 482
1170 H7KET 1 360
1180 BEFLET 1 475
1190 FEFARHT 0 370
1200 RKFH—TH 0 265
1210 RKFEEZTH 0 338
1220 FHT 0 280
1230 iRET 0 321
1240 HEET 0 244
1250 1= ET 0 294
1260 yER=E 3T ] 0 94
1270 HEHET 0 243
1280 FRAE T 0 314
1290 ERET 2 336



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TR (XF)a—F {TIRET (KF)4 100l AOE

1300 A ZEMT 0 255
1310 RIGHT 0 152
9999 A HEEXE 9 15453
1510 HEHD L BT 0 1549
1520 HE T ET 0 1443
1530 HE#0 ST ET 0 712
1540 KigFHT 0 1110
9999 FERNAR: X B 0 4814
2010 = EHRHET 0 409
2020 %= EFhHET 0 584
2030 JENHT 1 45
2040 HET—TH 1 435
2050 WET—TH 1 423
2060 g FE BT 0 96
2070 FRET—TH 0 521
2080 FRETZ=TH 0 421
2090 =g 1 3629
2100 ==bld:] 0 553
2110 FENNFTET—T B 0 486
2120 HEHIFTET —T B 0 544
9999 ZEREXE 4 8146
2510 FA U BT 1 4488
2520 K B2 ET 0 2772
2530 =/NEET 0 773
2540 FHiGHT 1 891
2550 SPHET 0 488
2560 = BT 6 1995
2570 KEHRT 0 186
9999 WERXE 8 11593
3010 RFTHT 0 1978
3020 T ET 0 1953
3030 L+ EET 3 1658
3040 =1z 0] 1 299
3050 T R ET 3 4023
3060 H R THT 0 996
3070 T BREET 0 981
3080 H T 0 867
3090 H R ET 0 829
3100 ZZ==Tic]:0 1 1038
3110 zZl==pId:1) 0 896
9999 INTFEREXE 8 15518
3510 SR 0 412
3520 E R hHET 1 715
3530 EETH 1 2015
3540 Z R KHET 1 814
3550 AEFHT 1 1632
3560 = FERHET 0 612
3570 = e 1 1599
3580 3 L BT 1 1080
3590 TEET 0 16
9999 SHBEEXE 6 8895
4010 201 P ET 1 695
4020 fE&HT 0 196
4030 1SET 1 546
4040 = HE A ET 0 474
4050 K E/T 0 981
4060 B2 4 AT 1 771
4070 At [ ET 0 374



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TR (XF)a—F {TIRET (KF)4 100l AOE

4080 =;TiHET 0 477
4090 R ET 0 679
4100 A EFNET 0 293
4110 Jt S FOET 0 351
9999 R XET 3 5837
4510 ERE—ZHT 1 1545
4520 B FKMET 0 394
4530 ARE =T 0 342
4540 AR FHT 0 282
4550 AR FHHET 0 214
4560 EREENTEET 0 128
4570 ARECHET 0 277
4580 AR )\ FEHT 0 186
4590 AR N FHET 0 249
4600 ERE+ZHT 0 255
4610 EREE+—FHET 0 387
4620 B+ — FKHET 1 555
9999 BERRET 2 4814
5010 REF0 B /T 0 436
5020 RE FOBA 4 ET 0 381
5030 REAFNE{—ET 0 448
9999 AR X &Y 0 1265
5510 b R ET 3 500
5520 = Hh BT 2 1269
5530 =T 2 979
5540 T 0 545
5550 BET 0 152
9999 =X E 7 3445
6010 [iE] BT /)N B 0 212
6020 fif] BT e 0 256
6030 [ BT &)1 0 191
6040 13 FFET 1 469
6050 JIIEHET R 1 333
6060 JIIEBETEE 1 277
9999 BEERRXET 3 1738
6510 H&EA#EAHET 0 47
6520 H&E A KEHT 0 420
6530 B &R AFTHET 1 235
6540 HEAILUTH 0 376
6550 BEAM 2 NET 0 199
6560 HEAEILHET 5 297
6570 HEAGFHET 3 329
6580 HEXAEHT 0 183
6590 HEARHE 1 99
6600 HZEAGHT 0 183
6610 HZEA LT 0 103
6620 HEAGFHT 0 87
6630 HEATHGHE 0 188
6640 B & A EHET 0 85
6650 HEAKHET 0 9
6660 HEAFRHET 0 52
9999 HEARRKE 10 2888
7010 ZRIMOm 0 363
7020 ZRKHT 0 539
7030 Z RIRHAET 1 226
7040 ZRTXKEHET 2 467
7050 Z RETHISHET 0 254
9999 ZR&EXE 3 1849



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.7.31IR7E JATERET & (KF) BIE&HAI A O tH5 3k (&5

TR (XF)a—F {TIRET (KF)4 100l AOE

8011 IRAETFEERLY 0 147
8012 IRABTERERA 0 303
8013 IRABTEER (& 0 177
8021 IR AHETIZRKLY 1 188
8022 IR AETIRIKA 0 11
8023 R AETFRK & 0 16
8031 IRAETHR ALY 1 374
8032 IRAETHRARA 0 28
8033 IRAET R A 0 44
8041 IR AETEEIFLY 0 142
8042 IRAET LR A 1 79
8043 IR AET LR 0 40
8044 IRABTEEIRIZ 1 66
8045 IR AET LR 0 100
8050 IR AHET IR A 1 372
8060 F N b ] 0 294
8070 IRAETER 1 285
8080 IR A BT S %A 0 118
8090 IRAETEE 0 107
8100 IRAETH /R 0 40
8110 P A< BT 11553 0 112
8120 IR AETEEME 1 191
8130 IRAETA E 0 184
8140 IRAETEEERT 0 293
8150 IRAETEEERL 0 199
9999 IRARR X ET 7 3910
9010 FTHEHAREH 4 1257
9020 FTHEHIEER 0 788
9030 FTH#HAEH 2 2365
9040 FTHEHRH 1 2780
9999 FTHREXE 7 7190
9110 Fi =R 1 1123
9120 =BT A& 0 525
9130 FEETRE 0 321
9140 SRET T AT 2 911
9150 SERT L 45 0 1033
9160 SEATEE AT 3 1535
9170 $ERTN A 0 1937
9180 SR ET 85 0 1286
9190 f=ETZ A 0 477
9200 SEETET IS 0 491
9210 RETE 0 834
9220 SR ET R 3 1296
9230 SEET B M 2 1401
9240 SRHTIE R 0 614
9250 $ERTIL Frth 0 1229
9999 FERXET 11 15013
9310 B SHETA{R 0 474
9320 RIZHETIL 0 541
9330 B[S ET/NE 1 355
9340 RISHETE 1 846
9999 R XE 2 2216
9410 RETTE 2 846
9420 RETHHE 0 504
9430 RETEXR 0 349
9440 RETAEF 0 32
9450 SRETHER 0 47
9460 RETCHE 0 69



MH24 7 IMFREARBIREZD—HHEICKYNEAZEDH-AO-HFHE
[H28.7.31IRE JITHHET & (KF) Al EEH B A O HHFEH (S5

TR (XF)a—F {TIRET (KF)4 100l AOE
9470 RETER

0 15
9480 RETHER 0 140
9999 REEXE 2 2002
99999 =111 97 129979



